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3. Uk & ©9 # — SUH QT 9l & w9 B ufderd (Heen) @ w9 d oJad fear Sdr 2 o faed
TR B ay H ¥3,00,000 BT fdHI TR 60,000 BT Yeg ¥ AT Al IFBT [AHI W Yeg o™ = 20%
(60,000 x 100 ,/3,00,000) BT |
qard fageryor &1 Gﬂﬁ?ﬂ g1 HE8<d (Objectives or Significance of Ratio Analysis)

U AT B (RN [ageryor # Sgurd faveryor @1 Ae<aqol Yl Bl © | STUNl & AER W {dzeryor
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1. TRerar gud (Liquidity Ratios) -"GReTdl” ¥ SRR U GRAT & =Te) QNI@l Bl Gebl DI &qar 4§ |
TREAT 3TUTAT | HRAT DI ASIBTA AT &HaT BT SIFBRT Ul el & | 9 1Tl ¥ I8 91d 8ram 8 &
TRRAT AU BT AHIRRN | BT TRAE BT b & Reafy § 2 a1 78 | 39 orgural & w7 #
ferforRaa srguTal @1 ToFT @ SRl § —

1. =mel Ui (Current Ratio) 2. @Rl a1 @Rd argura (Liquid or Quick Ratio) 3.0l dRedm S1guTd

(Absolute Liquidity Ratio)

2. A &HAT 3TguTd (Solvency Ratios)-2Ned &THdT JIJUTAl I GRAT B DIl W &9l Bl SIHbRT
U<l B & | S 31gUTal &1 Yol WRa-T a1 et argura (Capital Structure or Leverage Ratios)™T st
ST 21 S S Ul 9 I8 wa siar § 6 dwen § wifEi v feaw a9 e e @ den fear o=
FOTETArst | forr AT € | 59 Uil & WU H iR SIgUTdl @1 TOMT B Sl 8—

1. SRo—{Hal agura (Debt-Equity Ratio) 2. ¥ arurd (Proprietory Ratio)

3. TNE &FFaT AT 0T |HRT 3rquTa (Solvency or Debt to Total Assets Ratio)

4. =191 A argurd (Interest Coverage Ratio) 5. il GcfieRor arurd (Capital Gearing Ratio)
3. fopareiierar argura (Activity Ratios)—fshareiierdr srqural & Yofl a1 SRl & gardl w9 § Syt b
TAT € AT L, AP A B & | Sod fparefierar / e Igurd HEEHl & [ SUANT & Gadh 8§ IR
ot ¥ gfg Bl 21 37 orgurdl & w9 # fferRad srgurdl @t o @ Sl 8-

1. BT AT 3uTa (Stock Turnover Ratio) 2. &m0 9T KICK] 3qurd (Trade Receivables Turnover
Ratio) 3. 39 U8 3@ (Average Collection Period) 4. @MTR& <aar 3mad rgurd (Trade Payables
Turnover Ratio) 5. 39 T 3@y (Average Payment Period) 6. e FfxT aad urd (Total Assets
Turnover Ratio)
4. FMETISAT U (Profitability Ratios)—"dTMarIdGar ¥ e GRAT &I AMTSi eHar 3 2 o fawr ar
ATl & wafad &R 7T Siar § | 9 IguTd RTd! Aerdl I GRAT $ ATERIGdT $I A9 {HAT S g,
AMETIHAT FFUTT PEAT & | 57 AUl & w9 A F=forRad rgurdl &1 ToEr &7 SRl § —

1. & o Fqura (Gross Profit Ratio) 2. gfR=@mer= aurd (Operating Ratio)

3. gRETes Y 3urd (Operating Profit Ratio) 4. g€ o™ aurd (Net Profit Ratio)

5. fafarT © 9= (Return on Investment ROI) 6. A1 &1 HAT 9= 9=ma (Return on Proprietor’s
Fund)
5. faffanT faweiwor sur (Investment Analysis Ratios) — 3 31U U 3PNl §RT &#al # {3 S
arel Wt R & faweyer § weras B 2 | 3 orgud e §

1. WY 3 o9 (Barning Per Share) 2. UfY afer araier (Dividend Per Share) 3. SIRier Tdm= U

(Dividend Payout Ratio)

(A) TR U (Liquidity Ratios)
1.7Te] JUTd (Current Ratio)
TS AU U GRAT Bl AT FHRTAT (Current Assets) T @Te] MA@l (Current Liabilities)® Hed e I
G AT & | 39 BRI Yot a1 (Working Capital Ratio)¥fT &ad |

current assets

Current Ratio = —
current liabilities

T AJUT & I Tch dle] TURMN G ATe] ST € | =re), ARl | A1erg Uil qaRidl | 8 S A9y
D MR ST H FEY Faredq a1 e @1 [l |4 12 918 § Foe 4 uRafidd 8 SRl g | are] <kl |
IR I FIEl 8 e Yade M= Sared 9 @ afy | a1 fIes @ fafy 9§ 12 |18 #§ &A1 ©
=1e] SRl | e it &1 e fear S 8-

1. Current Investments 2. Inventories/Stock [Raw material, WIP & Finished Goods]3. Trade
Receivables[Sundry Debtors + B/R — Provision for Doubtful & debts] 4.Cash and cash equivalents [cash,
cheques, drafts in hand and cash at bank]5.Short term loans and advances, 6. Other current assets [Prepaid
Expenses, Accrued Incomes, Advance Payments, Advance Tax etc.]

T1e]. <1l § 71 &1 enfie fasam Sirem € —1. Short term borrowings [Loan payable on demand, Bank
overdraft, deposits and loans and advances], 2. Trade creditors [Sundry creditors and bills payable] 3.
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Other current liabilities: [current maturity of LT debts, interest accrued on borrowing, income received in
advance, unpaid dividend, outstanding expenses, calls in advance, unclaimed dividend] 4. Short terms
provisions: [Provision for employees benefits, Provision for tax, proposed dividend etc.]
He<d— dIc] U I8 IaT 2 b AT & U 1 ®UY & dle], [MAA BT a3 & oy faaei =ameg
wrferlt €| 9re] IrguTd RTaT ST BRI STcUdlel AFaRl & Bl &) el Sa- & Afde arfl | e
21 & 9T AJUTT DI 3MM&eN FFUTT AT ST 8 | AT AT 31U 21 A W a1 & I 98 FGAR YIedbl B
gfte 1 eraT FE W Wirar & Rl Reify # 1. WRem & Wie # gfg & O ¥+ Sred "I ST g1 2.
TR W Iell @ A RN 81 3. HHeiR AR Aifa @ el § o9 Ffeew uer 81 af =1 orgu 21 ¥
e 81 a1 98 e § iRl USh @ HH BT Ead § I G & U SRl Bl I dR & oy
Tt By T 2 |
T AU U TRAT Bl TReral Reafcr &1 aRAToTSTd b & 7 b [ocrd | I8 FRREl & URATT & SR
R gR&ferd fhar Srar €1 9w1a € & Ta Aol & U dre] 1@l @ e gRMmT /AT w9 9gd @Te)
FREAT 8 fbwg S99 sfftear Mf%hy 81 Wvem & Ut SIR¥icd YIa @ ol qaie By SudTe] T8l
BT | 3 frdl e @l axerar RIfd s & & forg aidel 39 orgurd WR fawars &1 fasar S Havar |
FaTevvl 1 - fEfRad & dre] AgUTd @1 T HISTY:(From the following calculate current ratio)

%ol FHREN (Total Assets) ¥ 2,00,000, IR =T} FHRTAT (Non-current Assets) ¥ 1,10,000,3ERAT & HIY

(Shareholder’s funds) ¥ 1,25,000, IR—7 < I (Non-Current Liabilities) Z30,000.
current assets 90,000 21

gal :Current Ratio = =
current liabilities 45,000

Current assets = Total Assets — Non Current Assets =% 2,00,000 —%1,10,000 =T 90,000, Current Liabilities =
Total Assets—Shareholder’s funds—Non Current Liabilities

=% 2,00,000-%1,25,000-%30,000 =< 45,000.

2. TS AU AT @RA U (Liquid or Quick Ratio):TRel U g S & forg =ra fovam e € o
HIT 3 3feUDIel MA@l BT R YA B Fehell & IT d81 | 39 @Rd AU (Quick Ratio), 31
R JAJUTT (Acid Test Ratio) ¥ HET ST © | TRl UM AR B "dRel TR (Liquid Assets)d Te],
TR & Fed AH Bl hdd HRAT B |

Liquid Ratio = ———————
current liabilities

TR FARMAT 3 ST I TRl A & O 2y &1 Tde Jfdl dbe gedl H yRafid fhar S wedn g |
3d: TR FHRMAN § Wbl (Stock) TAT Yaad AT (Prepaid Expenses) Pl BISHR Y AW ATl AR Bl
Tt fhar Sirar 21 39 Al @ 2w Adhs H yRafda w21 fhar S waar €, o 3= e far mar § | avd
Rl # = R @ enfie fear s §

(i) Current Investments, (ii) Trade Receivables [Debtors + B/R — Provision for Doubtful debts], (iii) Cash and cash
equivalents, (iv) Short term loans and advances

HE<d : R R &1 i SR & oY I8 T dTe] AU A 3BT HMT Il & adifch $qeb! TUMT

# S grRel B wfid fear S € o oRe Rt €1 98 U 14 BT See Wi WIdT 2| I8

U 1:1 ¥ e B AT 7<BT AT ST 8 b TReAdT U 111 W BH © I SHDI ARM & b AR

A7) M@l & A & forg ifdRead & &1 =awen &3 arll |

el 3T 9 @R 3gUrd # 3=k (Difference between Current Ratio and Quick Ratio)

1. R FTe] STUTd, dTe] WHRRT TT Are], IRl & d1d AR Hhe bRl 8, Sidieh dvel 3guTd, avd
FERRN 9 e Sl & 7 T YT HRd & |

2. 9 : dle] AU Bl I I8 Sifd Bl © b G 37U =re], qfy<al &1 b g9 H Y IR
|l § AT 7L |

3. SN AU : AT AJUTT 2:1 G HAMT ST &, STdfh Il U 1:1 &L AT I & |

4. |8 Rf: =re] oruTd wven @ WEl aRerar RAfd @& yde T8 wxar € a3ifes @ gkl § wie 14
gdes] gy W1 WA B €| Sl 31 RN BN UR WIS AU SHAT BN, SIaid ORel U Hel
WRerdT RIfd &1 Udhe a1 & Fifd gad! T H i 9 gdad i $I e 8l far Srdm 2|

liquid assets
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TETEX 2 ¢ Y A BT 31 9, 2017 7 facer = €

The balance sheet of Naresh Ltd. as at 31% March, 2017 is as follows:

Particulars Note | Current Year Previous
No. Amount Y Year
Amount ¥

I Equity and Liabilities
1. Equity shareholder’s Fund 1,20,000
2. Non current Liabilities

(a) Long term borrowing (debentures) 50,000
3. Current Liabilities

(a) Trade payables 25,000

(b) Short term provisions (Taxation) 5,000

Total 2,00,000
II Assets
1. Non current Assets
(a) Fixed Assets 1,35,000
2. Current Assets
(a) Inventories 30,000
(b) Trade Receivables 15,000
(c) Cash and Cash Equivalents 17,500
(d) Other current assets (Prepaid expenses) 2,500
Total 2,00,000

AT A | IO HIQ () dTe], IGUNT (4) Rl U

From the above informations, calculate (a) Current ratio (b) Liquid Ratio

current assets

gol:(a) Current Ratio =

current liabilities

Current Ratio = Inventories+Trade receivables+cash Equivalents+other current assets (Prepaid exp.) =
¥30,000 +% 15,000 +% 17,500 +% 2,500 =% 65,000
Current Liabilities = Trade Payables + Short Term Provisions = % 25,000+%5,000=%30,000

Liquid Assets

_ 32,500

(b) Liquid Ratio =

Current Liabilities  ° 30,000

=1.08:1

Liquid Ratio = Current Assets — Inventories — Prepaid exp. = ¥ 65,000-% 30,000-% 2,500=% 32,500
Jarere 3 : X Litd. o fe=ferRad @Rl @ aReran srgura Sid i

From the following informations of X Ltd., Find out liquidity ratio :

4 4
drd@Tel # 0T (Long term debts) 5,60,000 | @=Ifr (Goodwill) 2,00,000
JSTHTA T T IR |qHRr
(Short term debt): Bank overdraft 50,000 | (Tangible Fixed Assets) 12,00,000
AIPBICH ST RS =T 5,00,000
(Short term Provision): (Trade Investments)
JATfad AT (Proposed Dividend) 30,000 | fagor Irg gfenferat (Marketable 80,000
Securities)
$R AT (Provision for Tax ) 80,000 | ¥f® (Inventories) 7,80,000
IR M@ (Advance Income Tax ) 60,000 | TR (Debtors ) 4,00,000
RS <Iag (Trade Payables ) 2,40,000 | Less : 3mare= (Provision ) 40,000 3,60,000
39 fdRmr (Rent Payables ) 20,000 | AP Td AHs g 1,60,000
(Cash and Cash Equivalents )
<9 T (Dividend Payable) 60,000

T TREAT U & ©F § &I Y § ATe], UM 9 TR U &1 fhd o 2 |
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. current assets 14,40,000
(a) Current Ratio = ——= =3:1
current liabilities 4,80,000

Current assets = Marketable securities + Inventories + Debtors — Provision for D/D + Cash & cash
equivalents + advance income tax

= 80,000 + 7,80,000 + 4,00,000 — 40,000 + 1,60,000 + 60,000 = % 14,40,000
Current liabilities = Bank O/D + Proposed dividend + Provision for tax + Trade Payables + Rent Payable
+ dividend payable = 50,000 + 30,000 + 80,000 + 2,40,000 + 20,000 + 60,000 = %4,80,000

. . uick Assets/Liquid Assets
(b) Quick Ratio = ¢ /Liq

current liabilities

Quick Assets = Current Assets — Inventories — Advance Income Tax
=%14,40,000 —%7,80,000-360,000= %6,00,000:

. . *6,00,000
Quick Ratio=——=1.25:1
*4,80,000

gmi‘sﬁa fewoht: 1.amie AfFfERT IR—arq =Ry § | 2.39eRT § 9 Afewer ol & oy e aern 1
I

Sarevvl 4 - = gRRIfRl 3§ =re] srurd vd @R Igurd & IRbe HIfor —

Calculate Current Ratio and Liquidity Ratio in following cases.

(A) Current Assets % 2,00,000 , Stock % 1,00,000 , Working Capital T 1,20,000

(B) Liquid Assets % 1,00,000; Stock T 15,000 ; Prepaid Exp. ¥ 5,000; Working Capital T 64,000;

(C) Current Liabilities ¥1,00,000 ; Creditors ¥ 10,000; Stock ¥ 1,00,000 Working Capital % 3,00,000;

T : ST Ul BT B I W Y4 BN Gl WHRI, Ale] I, 9 Hriefia ol & @ $ S
IS & |

Working Capital = Current assets — Current Liabilities

Current Assets = Working capital + Current Liabilities

Current Liabilities = Current Assets — Working Capital

current assets o 2,00,000

=25:1

[A] (i) Current Ratio =

current liabilities  ° 80,000

Current Liabilities = current Assets — working capital =% 2,00,000 —1,20,000 = 80,000

.o . . . Liquid assets *2,00,000-"1,00,000 *1,00,000
(i) Liquid Ratio = ———— = = =1.25:1
current liabilities 80,000 180,000
. . current assets *1,20,000
[B] (i) Current Ratio = —— = =2.14:1
current liabilities * 56,000
. . . . liquid assets *1,00,000
(ii) Liquid Ratio = ——— = =1.79:1
current liabilities * 56,000

Current Assets = Liquid Assets + Stock + Prepaid Exp. =% 1,00,000 + ¥ 15,000 + % 5,000 =% 1,20,000
Current Liabilities = Current Assets — Working Capital =% 1,20,000 — X 64,000 =% 56,000

current assets _ *4,00,000 _

[C] (i) Current Ratio = = =4:1
current liabilities *1,00,000
. . . . liquid assets *3,00,000
(ii) Liquid Ratio = T2 o =3:1
current liabilities *1,00,000

Current Assets = Working Capital + Current Liabilities = ¥ 3,00,000 + % 1,00,000 = 4,00,000
Liquid Assets = Current Assets — Stock = ¥ 4,00,000 — % 1,00,000 =% 3,00,000

FETERVT 5 : (31) —AE =T AU 25 AT © 3R =T q1ided 80,000 & AT =] TR ST &Y |
@) — =re RET B TOET BITY, Jf =M FRRE! 25,00,000 & iR AT U 2 T[T T |
(a) — If current Ratio is 2.5 times and current liabilities are ¥80,000; find out current assets.

(b) — Calculate current liabilities, if current assets are ¥5,00,000 and current ratio is 2 times.

current assets

gl : oiar f& T € current ratio = —
current liabilities
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(81) —Current Assets = Current Liabilities x Current Ratio =% 80,000 x 2 .5 =¥ 2,00,000

current assets _ " 5,00,000

(@) —Current Liabilities = =7 2,50,000

current ratio 2

(B) ¥Ee &7 3ua (Solvency Ratios)
1. %o FHaT U (Debt- Equity Ratio) - 301 a1 rurd &l & 9@l ®ui(External Equities)Ud
IR T/ 3feEnRal @ @i (Internal Equities/Shareholder’s Fund) & #& =] &I U&Hc &l & |
g U AT & b I # LN PN BT JoTol § Aedableil Yd arddlel= ol I fba- v g b
2| F8 Irgura W & drdereis facia Al @ gedr @1 ot =g 91d A S 2
External Equities Total Debt
" Internal Equities ~ Shareholderss Fund or Net Worth

Debt - Equity Ratio

qIed] BI(External Equity) | 3R Qe dlelid SUR (Long Term Borrowing) T QrEidlelid 3G (Long
Term Provisions)dT dTe] SII@T ¥ € |

External Equities = Debentures + Bonds + Mortgage Loan + Bank Loan + Loan From Financial
Institutions + Public Deposits + Long Term Provisions + ST Loan + Trade Payables + ST Provisions.

JPERY Y (Shareholders Funds) @ 3r=i¥id 371 ol dem |9 U4 3Mfda (Reserves and  Surplus) 2mfiet
5 o

Shareholders Funds = Equity Share Capital + Preference Share Capital+ Capital Reserve+Securities
Premium + General Reserve + Redemption Reserve + Other Reserves — (Accumulated Loss + Fictitious
Assets.)

9 SREIRAT & DI B TUMT B FHA Al AT dm B gl ger @ SRl € a9y g [
"3 F7ar’(Net Worth)fi wgamt &1 39 €1 991 (Equity),3MT<IR& <11 (Internal Liability) am warfaa
@I F9dT (Owner’s Equity) il &&d & |

T GEREN ;- @l U E UF B FRET R @Y, FOUAT @ FHAT R o9eel /31, A wHIer,
RS < e |

HEWT : I U G & DI 0N BT A B DI & I S B & oy et Siar € a8
rgurd fIaT &9 BT € dddreid JFaRi @ gRem SaHl e Bt § SR I orgurd foaer ifdes g §
a1 Srd@relE ol BT g F BH P AR Qo A< Rfy &1 Jae 81T 8, offdd e Ro—wmar sgur
|HAT SFETRAT & fgehel BT & IfQ 0T W QA S d1el &A1 6T &% ¥ 376iq < (Rate of Earning) 3ifde
& |

e :—g® fdgr Debt # @aat Long Term Debt @I €1 IMAS HRH & UeeR & | S <M H FOT—HFAT AFUTd

. . Debt Long Term Debt
g:Debt_Equity Ratio =
—tquity Shareholders Fund Shareholder'sFund

TETERYT 6 =1 ETel | SROT—HHAT JAJUTT DI IO BT

Calculate ‘Debt-Equity ‘Ratio’ from the following informations :

|HaT 3 Yoil(Equity Share Capital) - % 2,50,000 , 9% YaifeiaR 321 GSi (9% Preference Share Capital)-
%1,50,000,9m=0 |99 (General Reserve) — % 80,000, uferfar MfA@H (Securities Premium) — ¥ 70,000,
om—8lf fdaxor 3 (Balance of Statement of P&L) — %1,00,000, 8% Zvras (8% Debentures ) —
26,00,000, §& v (Bank Loan) — %2,00,000, <R (Creditors)— ¥ 30,000, <3 fde (Bills Payable) —
320,000

gal:—Debt-Equity Ratio =

External Equities - 8,50,000
Internal Equities " 6,50,000

External Equities = 8% Debentures + Bank Loan + Creditors + Bills Payable
=% 6,00,000 + % 2,00,000+ % 30,000 + ¥ 20,000 =X 8,50,000;
Internal Equities = Equity share capital + 9% Preference share capital + General Reserve + Securities
Premium + P & L =% 2,50,000 + % 1,50,000 + % 80,000 + % 70,000 + % 1,00,000 =% 6,50,000
e FEOT—FAAT AT ST ITOAT STEBIC 0 & MR TR B Sl —

=1.31:1
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) ) Long Term Debt *8,00,000

Debt-Equity Ratio = = =1.23:1
Shareholders Fund *6,50,000

Long Term Debt = 8% Debentures + Bank Loan =% 6,00,000 + % 2,00,000 =¥ 8,00,000
JaTeRvT 7 : iR ol ¥ oT—\Har U (SdTeli ol & SRR UR) &I AT SISy
From the following informations calculate ‘Debt-Equity Ratio’ (Based on Long Term Debt):
gol:—Shareholders Fund = Total of B/S — Total External Liabilities = ¥ 8,00,000 - 3,00,000 =% 5,00,000
Long Term Debt = Total External Liabilities — Current Liabilities = 3,00,000 — % 50,000 =

¥2,50,000

Long Term Debt 2,50,000
Shareholders Fund_ 5,00,000
2. ¥a1fed 3rguT —(Proprietory Ratio) : I8 31U WA & WIHAT (Proprietors)d ®INI Ud el F¥IAl &
e I P AT BRAT © | 9 AU I TE A BT 8 (B WA P Kl GHURENT B AiyEE H @iy
@ Py {59 A TF T U 5 |

Proprietor's Fund or Shareholders Fund

Debt-Equity Ratio = 5:1

Proprietory Ratio =
Total Assets

Total Assets = Non-Current Assets (Tangible Assets + Intangible Assets + Non- Current Investments +
Long Term Loans and advances + Current Assets.)
He<d —UE UM ST SHAT BT IAT 37ST BRI | I8 Jge (i RAT b1 uRamas € sfeaia aven
TIHAT & PIY A o 8T 8 | $9 AJUIT BT =11 BFT oFaRT & ARgHd qof Rerfqy &1 eds 2 |
3. T &Har U (Solvency Ratio) - I§ AU HT & Hol d12d QU@ T Bl AURMT & He
A Pl Fad Bl & | S ST W G @l SHHdelE WEE &HdT | el 8| e 1§ ¥ @i
UTd Tel fear SRy a1 g &l 3guTd 9T 81 S |
Total Debts
Total Assets
Total Debts = Debentures + Bonds + Mortagage Loan + Bank Loan + Loan from financial Institutions +
Pubic Deposits + Long Term Provisons + ST Loans + Trade Payables + ST Provisions.
He<a—ge AU I8 YSRId Bl & b FRAT & Rel RN (Qdblei U JcdDlel) AT $I Gl Fefrl
 fram gRfad 2, aft o Tkt areg <@l 9 &1 § O RURaRi [/ oFMeR] @ gRew 31fdd R |
s Ui gt TRkl ey aiidcl 9 o9 & o Sigqgel fa<ig Refd &1 aiReare € |
SETERY 8 : ETRIT Emell | 1. ROI—HHdT 37U 2. A T U4 3. e &HdT 3guTd &l o1
DI
From the following informations, calculate (i) Debt-Equity Ratio (ii) Proprietory Ratio &(iii) Solvency
Ratio :<T€adTete 07 (Long Term Borrowings) — 3 50,000, &1€i®TelM 3mwi= (Long Term Provisions) —
¥75,000,a1¢] TR (Current Liabilities) —37,500, TR a1l ¥Rl (Non-Current Assets) - 2,70,000,
=1e], IRl (Current Assets)—<67,500

Total Debt _ External Equities_ *1,62,500
Shareholders Fund Internal Equities °1,75,000
Total Debt = Long Term Borrowings + Long Term Provisions + Current Liabilities

=% 50,000 + % 75,000 + % 37,500 =% 162,500
Share holder’s funds = Non Current Assets + Current Assets — Total Debt
=% 2,70,000 +% 67,500 — % 1,62,500 =% 1,75,000

Proprietor's Fund _ Shareholder's Funds :‘1,75,000 0521

Total Assets Total Assets *3,37,500

Total Assets = Non— Current Assets + Current Assets =% 2,70,000 + % 67,500 =% 3,37,500
Total Debt *1,62,500
= =048:1
Total Assets *3,37,500

3rerar—Solvency Ratio = 1 — Proprietory Ratio = 1- 0.52 =0.48
SETERYT 9 : RO o1, & 9 el & uReferd aifoie:
(31) o FHAT IUTT (d) TTAcd U (W) 2e & 1uTd |
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SolvencyRatio =

=0.93:1

gel—1. Debt-Equity Ratio =

2. Proprietory Ratio =

3. Solvency Ratio =




From the following informations of Rajani Ltd., calculate (a) Debt Equity Ratio (b) Proprietory Ratio (c)

Solvency Ratio. g

e 3% Ysil (Equity Share Capital) 18,00,000
M= Gad(General Reserve) 10,50,000
@m—gTf fdavor 99 (Balance of Statement of P & L) (Loss) 1,50,000
8% ZFv19a (8% Debentures) 11,00,000
d% 3ffw gfdsar & & (Loan from BOI) 8,00,000
EISE M (Current Liabilities) 4,00,000
i (Goodwill) 5,00,000
3= IR 9re], A RAN(Other Non-Current Assets) 25,00,000
1e]. FHrRIf(Current Assets) 20,00,000

Total Debt ~23,00,000

gel—(a) Debt-Equity Ratio = =0.85:1

Shareholder's Funds - 27,00,000
Total Debt = [8% Debentures + Loan from BOI] + Current Liabilities = [¥ 11,00,000 + ¥ 8,00,000] + ¥
4,00,000 =% 19,00,000 + % 4,00,000 =¥ 23,00,000

Shareholder’s Funds = Equity Share capital + General Reserve + P& L (Loss) = ¥ 18,00,000 + %
10,50,000 + (- ¥ 1,50,000) = % 27,00,000

af&(Debt-Equity Ratio) @1 0T &del SrEdIeid 0 & YR R B SIY di—

. . Long Term Debt *19,00,000
a(a) Debt — Equity Ratio = g - = =0.70:1
Shareholder's Funds *27,00,000
. . Shareholder's Funds *27,00,000
(b) Proprietary Ratio = = =0.54:1
Total Assets *50,00,000

Total Assets = Goodwill + Other Non-Current Assets + Current Assets = ¥ 5,00,000 + T 25,00,000 + %
20,00,000 =%50,00,000

Total Debt *23,00,000
= =0.46:1
Total Assets *50,00,000

4. TS &I 3rgura (Interest Coverage Ratio) : - S 31UTd &I TSl JATARYN U, 0@l JUTd
(Debt Service Ratio) @ -9 ¥ ¥ ST ST € | I8 UM GRJAT & "R qAT AT 9 qd & a'(Profit
Before Interest and Tax) Ud Qredleil- 0l W 1ol (Interest on Long Term Loans) @& He A= &ad
PR & |

(c) Solvency Ratio =

Profit before charging Interest & Tax

Interest Coverage Ratio = -
Fixed Interest Charges

He<d —J8 JJUT ARAT &I RUI—Hd] &1 BT A9 & | I8 AU aardl & b AT & A Wil &ars]
g # fbaar AT €1 I8 Irqurd fa oifde BN W @l U—dT &|dT Sa 81 oAfdie BN qerm
ORI BT S JReT Tl B8FT | $H SIUTd & el BN U= GRAT 30 ReR &Il YMR BT GRT H=A
aramef BRfI | U&h I & oM Q6 TSl @ gl 9 6 IT 7 I & T 8 412y |

JaTEX0T 10 - TRl T, & %4,00,000 & 5% 0TI B | ST T4 B A Yd FHBT 4 31,50,000 & | TSl AT
IUT T TOET BRI |

Rohini Ltd. has 5% Debentures of T 4,00,000. Its profit before interest & tax is ¥ 1,50,000, Calculate
Interest Coverage Ratio.

Profit before charging Interest & Tax _ "1,50,000
Fixed Interest Charges - 20,000

Interest on Debentures = 5% of % 4,00,000 =% 20,000

SJETERVT 11 - (F=feIRad @Al & 0T Jar 1guTd $I 0T PINTY Td IH UR 370+ fewolt forfed |

From the following informations, calculate ‘Debt-Service Ratio’ and write your comment on it.

S Td HR B garq &1 o™ (Profit After Interest & Tax) ¥ 1,08000, 3mIaR @1 X (Rate of Income
Tax) —¥40% , 8% =99 (8% Debentures) — % 2,50,000

T —UTJAR T AT UM ST BRAT & Sff b ATol AT U Pl & TIRT M 2 |
Profit before charging Interest & Tax _ 2,00,000
Fixed Interest Charges - *2,0000

= 7.5 Times

gcl: Interest Coverage Ratio =

= 10 times

Interest Coverage Ratio =
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e H M, BR U4 ISl & YA & [@d § STl I8 AJUM S DR D oY oM™, BR Td A I g4 D

. Profit After T ~1,08,000_ *1,08,000_
=12 | 31 Profit Before Tax = rofit Ajter Tax _ = ¥ 1,880,000
1-Tax Rate 1- .4

I ™ ¥1,80,000 B H Yd BT AT 2 ol Tl ucw?ﬁqwmaﬂ%?mﬁﬁwwﬁﬁwﬁﬁw
g g $ UTA Y A WX B DR DI 0T BT ARH 2 | 3T PR T Ao F Gd BT A AT B D
forg go¥ =arst &1 iy oirs < |
Profit Before Interest & Tax = Profit Before Tax + Interest Charge =X 1,80,000 + ¥ 20,000 =¥ 2,00,000
feweft : g Jgurd Fara € fF R 7 AT BT A1 | 10 A A AT fbar § S B v srguTd 6 AT

7 I W A% 2| 31T T U ETEdTeE O TR TSl BT I AR PR T g |

(C) foharefietar S UTd (Activity Ratios)

(1) ¥ amac U (Stock Turnover Ratio) — Wh=T 3fact 31U AT & AT Rl BT FRJAT §RT 99 T
AT @ AFTd (Cost of Goods Sold) fd Harers foramell & W™ & orTd (Cost of Revenue from
Operations)® #ed = Wi _al 2 T8 SR g f& der grr wie ¥ fafefsa swifr &

i vd A @1 gafear W) AR &Rar € 1 g9 T e g3 ¥ @ S ©

Cost of goods sold i.e.cost of Revenue from operations

Inventory Turnover Ratio =
Average Stock/Inventory

HATer fehamail & M @1 aFTd (Cost of Revenue from Operations)d! IO
Cost of material consumed + Purchase of stock- in- trade + changes in inventories + direct expenses.
Or Cost of revenue from operations = Revenue from operations — Gross Profit
AT Wb / T DI ITUET - Average Stock =

szﬁ—zﬁ@wﬁmamﬁwﬁmﬁww@wmﬁﬁ%aﬁ?ﬁﬁw
NI @1 TOMET BI S Febell & | QAT Reafey  wepee afrard 1guTd & ToMET 41/ Farerd fhamstl & s &
MR TR &Y ST |

Inventory Turnover Ratio =

Opening stock+Closing stock

Sales/Revenue from Operations

Average Inventory

He<d : 39 U ¥ G BT 2 P Gk H wie fFw wfa | fAwy § uRaffa 8 @1 € sl e @
I SUANT 81 BT € IT T8I | I8 JJUT FOTaT a1 B & I 81 ST A1 ST 8 Flfh AT HH ™
W R A f¥E ™ B o 2| gEs Aok g srgura g e gar € a8t wie H ey go %
W BT gad 2| T R IoR I, 1afds i a1 Wid W Tqeel FEaT &1 gas 2 |

IaTevvl 12: fR=Tifhd arell | e JATad JAFUTd ST BRI

From the following informations, calculate Inventory Turnover Ratio:

99 & %A (Purchases during the year) 5,00,000, 99 & 9R¥ 3 &fam(Inventory at the beginning of the
year)- 2,00,000, 9§ & 311 # &faar (Inventory at the end)- 1,00,000. 3Mad ST {reT (Carriage Inward)-
50,000, @=mer & 3MF (Revenue from operations)- 10,00,000

gl —Cost of Revenue from operations = 2,00,000+ 5,00,000 + 50,000- 1,00,000 = 6,50,000

2,00,000+1,00,000
Average Inventory = > = 1,50,000

Cost of Revenue from Operations _6,50,000

= 4.33 times.

Inventory Turnover Ratio = =
Average Inventory 1,50,000

IETeR0T 13RI o I Ih IMMad JUId Ud Whel DI AT Al ST BRI

From the following informations calculate Inventory Turnover Ratio and Average age of Inventory:
URf™® Efaar (Opening Inventory) 58,000, 3 (Purchases)- 4,84,000, wared fohamil & oM™
(Revenue from operations) — 6,40,000, &el AW & & Farad (Gl H FTH &1 25%(Rate of gross
profit 25% of Revenue from operations)

g —Cost of Revenue from operations = Revenue from operations — Gross Profit = 6,40,000 — 25% of
6,40,000 = 4,80,000

Closing inventory = opening inventory + Purchases — Cost of Revenue from Operations =

58,000 + 4,84,000 — 4,80,000= 62,000

Opening Inventory+Closing Inuentory 58,000+62,000
2

Average Inventory = = 60,000
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Cost of Revenue from Operations _ 4,80,000

(i) Inventory Turnover Ratio = = 8 Times.

Average Inventory ~ 60,000
No.of days/months in a year 365 12

= —or—=45.63 days or

Inventory Turnover Ratio 8 8

(i1) Inventory Velocity /Average age of Inventory =

1.5 months.
SETERYT 14 : WiEl o1, & fFreforRad ! A e 3TTad SUId @1 0T DI

From the following data of Minakshi Ltd., calculate Inventory Turnover Ratio :

Particulars Amount
Revenue from Operations 85,000
Less : Returns 5,000 80,000
Less : Purchases 39,000
Change in Inventories (Opening Inventory — Closing Inventory)
(15,920-14,400) 1,520
Carriage Inward 1,000
Wages 2,000 43,520
Gross Profit 36,480

Cost of Revenue from operations _ 43,520

g —Inventory Turnover Ratio = =2.87 Times

Average Inventory - 15,160
Cost of Revenue from Operations = opening inventory + purchases +carriage inwards + wages — closing
inventory = 39,000 + 15,920 + 1,000 + 2,000 — 14,400 = 43,5200r Cost of Revenue from operations

= Revenue from operations — Gross Profit = 80,000 — 36,480 = 43,520

Opening Inventory+closing Inventory 15,920+14,400
Average Inventory = = 2 = 15,160

2
(ii)=mTRe ure amac U (Trade Receivables Turnover Ratio): I8 31uld &add & Yg SUR A5 &1
ired RS ATl & A1 AR AU $HRAT € | I8 U Jardl & b Her SuR aell § sl ddb Ahel
TS 21 AT PIS RN AU WS | AT W qgel Fel Rl § Al SHd DY IFEwId w9 9wl § %Y

ST | 36T T 9 TR @ S ©

Net credit revenue from operations

Trade Receivables Turnover Ratio = -
Average Trade Receivables

A1 :=— 1. Net credit revenue from operations = credit sales — sales returns. 2. A& ¥ed # IUR fIgwg & &1
dr SuR fdsa = Total sales — cash sales 3. If¢ IR faHa F FHRT A W THR & DS Fa=m 7 &1 I
Net credit revenue from operations @& I 4R Total Revenue from operations @1 JIR1 & &maiRe gy
AT AU S AT SRR | 4. TaTRS® 9l § Debtors Td Bills Receivables @1 =¥ far S
fbeg "o wd wdfewe kol & forg amdre(Provision for Bad and Doubtful Debts)d! &mdiiRe gt
(Trade Receivables) § & &I ¥R STRAT |

. Opening (Debtors+B/R)+ Closing (Debtors+B/R
5. i aRE el @) o ;= 22N ( /)2 9( /%)
HEw —39 IMUId ¥ I A BIAT © b ARG Ul I fhail e 3 A agell 81 &1 8 | I8 U
o aifdre Brar € Sa € RS Tl & a¥el H GRieldr & uRerdd Bl €| s9a fAuRd a8 JrguTd
Rrar < grar & A & e @ SuR fam @ ¥/ ruRe wret @ el § qEre 98 8 & gad
BT € | a1 ARerl gRT U UTEh! &Y [{eh & 18 ¥ Ry afdr avger 7€ 2 /& €
FETERVT A 5(TIRIT AT | RTATRS AT JATac ST DI 0T DITTY —
From the following informations calculate Trade Receivable Turnover Ratio :-
9¥ & foTg et IMTH Fare fohamali W (Total Revenue from operations for the year) 4,00,000,7%& 3ITH
forarait | wiftd (cash revenue from operations) 20% of total revenue, 01-04-2016 &7 &MUTR® W= (Trade
Receivables on 01-04-2016) 68,000, 31-03-2017 &I =muiRe Wl (Trade Receivables on 31-03-
2017)60,000,

gdl : —Trade Receivables Turnover Ratio =

Net credit revenue from operations

Average Trade Receivables
3,20,000

64,000

=5 Times

Trade Receivables turnover ratio =
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Credit revenue from operations = Total Revenue from operations- Cash Revenue from operations =
4,00,000 — (20% of 4,00,000)= 3,20,000

Opening Trade Receivables+Closing Trade Receivables
2

Average Trade Receivables =
_ 68,000+60,000

= 64,000

(iii) 3iga Hugor sr@fr (Average Collection Period) — 3iAd U0 3afey & omery oAl @7 99 wvaar & &
Rorad derm &1 I9s AaiRe Ui (Trade Receivables) & €FRIRT &1 a¥fell 8l & | I8 31U Jeadn:
TATR® T 3frac gura Trade Receivables Turnover Ratio) W ¥R &_am 2 |

No. of daysin a year

Average Collection Period = - -
Trade Receivables Turnover Ratio

Average Trade Receivables X No.of days in a year

Average Collection Period = , -
Net Credit Revenue from operations

Hewa:—3Id BT AT ARG Ul F agell 9 o dlel 9 Bl UHE BRAl © | Ig A Il
TR AT 3f7ae AguTd W R el &, iR Ui arde rurd fOra=r S 81T, Jad JUser fafy
I & HH B | T BT ggd RO @ B W BH BRfT | s9a AUk emiRe e srad it R
=re BT HUBY Y Il B AlH BRI S AR gRT AMING ATl B agell H %l Bl Ybe Rl
gl

TETER0T 16— YWA oI, BT YAl | 31 T, 2017 BT 7= A9 o T | AR 9 ATaed U Qd AR
HYUBOT i Bl MOET BT | 9y H 360 a7 A1+ |

The following balances are extracted from the books of Shubham Ltd. on 31* March, 2017. Calculate
Trade Receivables Turnover Ratio and Average Collection Period. (Assume 360 days in a year)

Total Gross Revenue from operations (HaTad o @A Fha W) 3,00,000; Cash Revenue from
operations (FaTa™ ¥ & 3MH)60,000; Revenue from operations return (FdTel 9§ 3R ar9=i1)21,000;
Total Debtors(del a-aR) on 31.03.2016; 8,000, Total Debtors(del a-aRR) on 31.03.2017 10,000; Bills
receivables(WTs fde) on 31.03.2016 4,500; Bills Receivables (W= fdal)on 31.03.2017 6,700; Provision
for doubtful debts (FfeTer ol 4R MAS)2000; Trade payables (@T4TRE <) on 31.03.2017 20,000.

Net Credit Revenue from operations _ 2,19,000

8ol :Trade Receivables Turnover Ratio =15 Times

Average Trade Receivables T 14,600

Net Credit Revenue from operations = Total Gross Revenue from Operations — Cash Revenue from
Operations — Returns= 3,00,000 — 60,000 — 21,000 = 2,19,000

Opening (Debtors+B/R)+ Closing (Debtor+B/R) _

2
(8,0004+4,500)+ (10,000+6,700) _29200_

= 14,600
2

Average Trade Receivables =

No.of days in a year 360
fday X = — =24 days

Trade Receivables turnover ratio 15
JETEX0T 177 ATl | URPIEG qAT 37| AR AT HI IT0ET HIFSTY —

Average collection period =

From the following informations, Calculate opening and closing trade receivables :-

TIRS I AEd U (Trade Receivables Turnover Ratio) : 7 Times; UR@TET I 3TH &I @FTA (cost
of revenue from operations) 7,50,000; F&hel <9 1Jd1d (Gross Profit Ratio) 1/3 on cost; gRATe™ | ddhe
3 (Cash revenue from operations) : 30% of Total Revenue; 31 & SMUIR® U™, YR™ & AUTRE
Tl ¥ 40,000 $9 3Af&&F o |(Closing Trade Receivables were 40,000 more than at the beginning).

a1 :—Total Revenue from operations = Cost of Revenue from Operations + Gross Profit = 7,50,000 +
(1/3 of 7,50,000) = 10,00,000

Credit Revenue from Operations = Total Revenue from Operations — Cash Revenue from Operations =
10,00,000 — (30% of 10,00,000) = 7,00,000
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Credit revenue from operations _ 7,00,000

Trade reveivables turnover ratio = - = -
Average Trade Receivables Average Trade Receivables

7,00,000

Or Average Trade Receivables = = 1,00,000

Opening receivables+closing receivables
2

Average Trade Receivables =
Assume opening trade receivables is = x, than closing trade receivables = x + 40,000
1,00,000 = S+ E#20000) 1 5 9,000 — 40,000 = 2x or x = 1,60,000/2 = 80,000

URMRIH RS U = 80,000 ; A~TH ATUIMREG U =80,000 + 40,000= 1,20,000

(iv) @maRe® <IaT amad Ut (Trade Payables Turnover Ratio) - I8 U <d@d & & SUR HI
BT A ARG I B ATl - WA BT & | I8 U el & by & T H RS
ARl @1 aad(Turnover)fa R g3 2 |

Net credit purchase

Trade Payables Turnover Ratio =
Average Trade Payables

e : 1. 9 JUR HI & dR H FaAT SUA T 8 Al el HA(Total Purchase) & MR WR & $9 31U Bl
TOET B A E |

2. 39 AU Bl AUAT gg “WFeRl W Ge & ey st “(Provision for discount on creditors) @1 S aRI
H F TE g o1 €

Opening (Creditors+B/P)+ Closing (Creditors+B/P)
2

He<wd : — T I[UId & HEIH A BH §RI AUl AMRS IARIT B I &I I Tdbe 8l 8 | Ig gurd
T T BT I B 3BT AFT SR | I8 Iaeldl & 14 B¥ AU qIdreli &I g Yiae &R 8l & ud
T8 HH P ARG IRIAT P IGAT B |

(v) 3 d T 3@ (Average Payment Period) — 390 A 3@fyl I8 SN <l 8 6 dwerm s
TR IR & YA § o= T9g I € [F8 31uTd ead: MRS Il frad gurd iR iR €

TIAT AT U AT HAT BEIT A A @S I &1 S BT | g9 [AURIG IJdT A urd
T =Trem BT SiId YT J7afe I &1 3Mfdd BhfT |

No.of days in a year

3. Average Trade Payables =

Average Payment Period = -
Trade Payable Turnover Ratio

No.of days in a year X Average trade payables

Average Payment Period = -
Net credit Purchase

N O\

JETERT 17 — Y fo1. @ FrfaRad gaemeil | amaiRe <3ar smad i urd gd SiRId T Jafd &l Torr
PINT -

From the following informations of Ramesh Ltd., Calculate ‘Trade Payable Turnover Ratio’ and
‘Average Payment Period’:

Total Purchases during the year(@¥ & 3R gt %) (15,00,000; Cash Purchases(@TE %) 4,00,000;
Purchase Returns (out of credit purchase)(S¥R %d # ¥ a19=d1) 5,000, Provision for discount on creditors
(eFeRI W geer smareH) 50,000; Opening Creditors(IRf¥& @9aR) 35,000; Opening B/P (IRf™M& <1

fde) 15,000; Closing Creditors@ift FaR) 50,000; Closing B/P (3ffcm < faer) 20,000.
Net Credit Purchases 10,95,000 .

= = 18.25 Times

Average Trade Payables 60,000

Net Credit Purchase = Total Purchase — Cash Purchase — Purchase Returns = 15,00,000 — 4,00,000-

5,000 = 10,95,000
Average Trade payables = (35,000+15,000;L50,000+20,000) _ 1,202,000: 60,000

get:(1) Trade Payables Turnover Ratio=

No.of days in a year

(i) Average Payment Period = -
Trade Payable Turnover Ratio
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or

_No.of days in a year X Average Trade Payables

Net Credit Purchases

365 365 X 60,000

Average Collection Period = —— = 20 days or Average Collection Period = =20 days
18.25 10,95,000

(vi)@er FHufRT amad Ut (Total Assets Turnover Ratio) :¥I8 31U e &1 @l AHRMl T 39D
MR TR B dTel AdTeld fohamell & 3IFTH 1raT Harerd fohamell | 3MTH & oiTd & Fed \Fa dd Hdl
2| I8 gl AT amad srgur (Total Investment Turnover Ratio) 1 ®&ard ¢ |

Revenue from operations or cost of revenue from operations

Total Assets Turnover Ratio : =
Total Assets.

Total Assets = Non Current Assets (Tangible Assets + Intangible Assets + Non Current Investment +
Long Term Loans and Advances) + Current Assets

He<d 8 AU I & [ Wl & Gl Grafidl & o # Fared fhamsil & o™ fhadl R gam 2|
Y8 AU AP & O GRAT YT B H Bl URAIS © b I= AURRT P g9aRiel SuINT fdhar
2| 39 AR I8 o gua a1/ ®4 & a1 39T e © fo deen s sl & go § s
famg 8l SR }E & Jr el H A «fde € |

TETERYT 18— gaiail W “qel R e U’ Bl T HITSY —From the following informations
calculate ‘Total Assets Turnover Ratio’:Goodwill (@1fdt) 8,000; other Non current Assets (3 R @Te]
wREl)  22,000; Current Assets (are] F¥drdl) 20,000; Cash Revenue from operations (Hae | &4
ams)  1,30,000; Credit Revenue from operations (Hdre@ ¥ S¥R 3MH<)  3,90,000 and revenue from
operations return (HaTe= ¥ A 991 20,000.

. Net Revenue from operations 500,000 .
8ol —Total Assets Turnover Ratio = = =10 Times
Total Assets. 50,000

Net Revenue from Operations = Cash Revenue from Operations + Credit Revenue from Operations —
Revenue from Operations Return = 1,30,000 + 3,90,000 — 20,000 = 5,00,000

Total Assets = Goodwill + Other Non Current Assets + Current Assets = 8,000 + 22,000 + 20,000 =
50,000.

(D) ST 31T (Profitability Ratios)
19%d @™ U (Gross Profit Ratio) : I8 31U Hhel oM iR Fared fhameli 4 g o™ (fma)s
qI AR Pl YHT IRAT & | I I§ U IR & w9 H Fad fhar Sirar € | g9l 1o e g

3 BT W & —Gross Profit Ratio = Gross Profit 100

Revenue from Operations (Net Sales)X
Gross Profit = Revenue from Operations — Cost of Revenue from Operations

Cost of Revenue from Operations= cost of material consumed + purchase of stock in trade + changes in
inventories + direct expenses (carriage, wages etc.)

Inventories = Finished goods + work in progress (WIP) + stock in trade;

Net Revenue from Operations = Revenue from Operations — Revenue from Operations Return i.e. (Sales
return)

He<d : U8 AU WRAT B ATATSI &THAT DI ST DR bl AT /Y € | I§ IJUId I A BN, gadry
& forg AT & YR BN | s9a AU $9 SIUTd & $H BT S 910 &l Tdid § b gaward # @ @
JIT H AW BH & R T RS T BRU-A%T qeu § B S Y Hod quT Ml Wil Aeigy onfy
TceT Al W gig B, SifiW e BT Hedidd B BT IS € | $9 AJUT B Y PIS 3ET JAT & & |
fheg T8 STUTd $a-11 3 BFT ARV T T Harel @i, g4, Rl IR TS, dARe 3ffa &I a<e
ENE I

FETERVT 19 : (=IRIT el A Adhdl ™ AU S DI

From the following informations, calculate Gross Profit Ratio:
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Decrease in inventory (&=l # &) : 1,60,000, Return Outwords(Sad ST 4w - 50,000,
Purchases(®3) -(Cash 2,00,000, Credit - 6,00,000), Wages(#sigxl)- 80,000, Carriage inwards (@frde TS
ATST) - 15,000, Salaries(@@) - 1,00,000, Cash Revenue from operations(HaTed ¥ Ada 3MHa) - 2,50,000,
Ratio of cash Revenue from Operations and Credit Revenue from Operations(@de ¥ dHa G TG
AT | SUR ANTH & drd BT 37urd)—1:5

Gross Profit 15,00,000—-10,05,000
! x 100 =

Revenue from Operations 15,00,0000

x 100 =33%

gl —QGross Profit ratio =

Revenue from Operations = Cash Revenue from operations + Credit Revenue from operations= 2,50,000
+(2,50,000 x 5) = 15,00,000

Net Purchases = cash purchases + credit purchases — return outwards = 2,00,000 + 6,00,000 — 50,000 =
7,50,000

Cost of revenue from operations = Net Purchases + Changes in Inventory (i.e. opening stock — closing
stock) + Direct expenses = 7,50,000 + 1,60,000 + 15,000 + 80,000 = 10,05,000

dre:Decrease in Inventory &7 3R 8 fdh IR e &1 goi=m # ifcw Iefaam 3 g arell & |
2.9R=me U (Operating Ratio): UR=Te 31U U WRAT &1 Gl YR N Qd GdTer el
U g M & W R ad BT & | ol IRATAT AN A R =g Fared [hamsil ¥ 3 &1 drTd

H I Jaud ¥ GHEd TEK gRETed @™ Bl el Ud 3T UREme Il Bl el Sl & | aReErer
3TUTT Ve U= @M SUTd @l AT 1 BIe & |

Operating Cost
x 100

Operating Ratio =

Net Revenue from Operations

Operating Cost = Cost of Revenue from Operations + Other Operating Expenses — Other Operating
Incomes

3= uRR=mes &g (Other Operating Expenses) : Employee Benefit Expenses, Depreciation, Office and
Administrative Expenses, Selling and Distribution Expenses, Discount, Bad Debts, Interest on ST
Loans.3/d =T 34 (Other Operating Incomes ) : Commission received, discount received.

He<d: URATAT U Fadd P BRI T4 ATHIUTS &HdT &I A9 & | IJ§ AU fora=1 wH sl ©
AT @1 gfe & HRem Sal & Hret A S § |

e IRATE U &1 IO & T IR ey @il guknl @ fJwa R e, s g,
STEPTeld R0 U &Te], T, PR AT TG IR gREre i o ST R emy anfe &r eu= & 81
G ST § |

3.9ReTer @ Sgard (Operating Profit Ratio) : I8 31U UR=Te &9 Ud Hereld fshamsil & oM (Yg
fampa) © Aoy gr WRIUd )T € | URATeT Y W SS9 o 9 & Sl Aard At | e § |
T FAAE Y TG AR IRETed g 9eiax U4 3 IRETed 3 Siedx (FaTel S 2 |

x 100

Operating Profit

Operating Profit Ratio =

Net Revenue from operations (Net Sales)

Operating Profit = Gross Profit — Other Operating Expenses + Other Operating Incomes

Aie— A& Net Profit A1 81 AT UR=ETAT S 1 0T FRATER 1 SITgel —

Operating Profit = Net Profit (Before Tax) + Non Operating Expenses/ Losses — Non Operating Incomes
3= URETes Hare™ <93 (Other operating Expenses): Employees Benefit Expenses, Depreciation, Office
& Administrative Expenses, Selling & Distribution Expenses, Discount, Bad-debts, Interest on ST Loans

etc.

3= gRETe /ATt g (Other Operating Incomes) : Commission Received and Discount Received.
iR uRame™ /dare= =@ (Non-Operating Expenses) : Loss on sale of Non-current (Fixed ) Assets, Loss
by Fire, Donation, Income Tax and Interest on Debentures/L.ong term Loans.
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R =T /e 3 (Non-Operating Incomes) : Profit on Sale of Non-current (Fixed) Assets, &
Income on Investments.

HETIIE AU W TRAT & b A &1 forareres emar ol | R 2ifde a8 rgurd 81 wver |arerd
fopameil &1 o T @ gfe & S & R A SIGH | Bp wReIRil | Hare fhael | oM &9 BT §
fheg TR oo forameil &1 o™ o1 S | IRema: Y oM ITUd 98 ST © | i gawrd @l
PRIGIICAT TAT AT &FAT DT AT BT AR YR A 3 & & |

Sarexvl 20: fer=iforRad el 31 uReErer srquTa U UReETe o 3gUTd 1 T BTy —

From the following informations, calculate Operating Ratio and Operating Profit Ratio :

gReTe | 3ma (Revenue from opertaions) — 2,25,000, RR@Te ¥ 3 amasdl (Revenue from Operations
Return) - 25,000, R=TeE 9 M &I @Rd (Cost of Revenue from Operations)- 1,00,000, YRmH&
TI(Administrative Expenses) - 17,000, faspg g faaRor @ (Selling & Distribution Expenses)- 9,000,
g (Depreciation) - 22,000

Cost of Revenue from operations+Operating Expenses

ga—(i) Operating Ratio = x 100

Net Revenue from operations
1,00,000+(.17,000+9000+22,00,00 1,48,000
¢ 2x100 =229 100 = 74%
2,00,000 2,00,000
Net revenue from operations = Revenue from Operations — Revenue from Operations Return

=2,25,000 — 25,000 = 2,00,000
Operting Profit X 100 = 52000

Net Revenue from operations 200,000

Operating Profit Ratio = x 100 =26%

Net Revenue from Operations = Revenue from Operations — Revenue from Operations Return

= 2,25,000- 25,000 = 2,00,000
die: aRAres & U @I TUMT 39 g ¥ W AR Add @ (100—uRETET JguTd) o 59 uvd H
H(100-74%) = 26%URaTe™ T U 81T |
Operating Profit = Net Revenue from Operations — Cost of Revenue from Operations — Other Operating
Expenses (Adm. Exp. + Selling & distribution Exp. + Depreciation) = 2,00,000 — 1,00,000 — ( 17,000 +
9,000 + 22,000) = 2,00,000 — 1,48,000 = 52,000.
4.3€ o™ 3rqurd (Net Profit Ratio) :¥8 Urd <Uqd™ & Yg oM T Fared fhareli 9 g ™ (Net
Sales) & #ed AR Fad BRAT & | Yg A U AGANIS AT & Aareld fharell | o™ vd IR Farer
fopamelt & o7 &1 AR B €

Net Profit Ratio =

Net Profit
X
Net Revenue from operations (Net Sales)

100

Net Profit = Gross Profit — Other Operating Expenses — Other Non Operating Expenses + Other
Operating Income + Other Non Operating Incomes

HE<d : U8 MU ATHT B! Gl AGTIHAT AT HRISIAT B IRARS & | I T8 U favra aut @ e
# gfg uaRia oxar € a1 SHGT AR™ & JI9 & dMYSdl H GUR 83N 2| U8 U Ud iR Hared
foramall | M R AMEEaGdT &I Iefar & 981 @il @ 4o W SIkeq & forg Sfed o 89 & SFer)
SICGIR

FaTeRvl 21: Fr=fIRad Al & U ¥l & 31 T, 2017 DI FHATK B dlel a¥ & oY Febel o1 U,
GRETA o™ 3T Td g ¥ IJUI Bl YRBbeT dIfoiy —

From the following informations, calculate Gross Profit Ratio, Operating Profit Ratio and NetProfit Ratio
for the year ending 31 March, 2017 of a company:

URM™% efaar (Opening Inventory)  1,20,000; sifdsw sfaar (Closing Inventory) 2,00,000; 3
(Purchases) 8,40,000; #oig¥l (Wages) 56,000; 3mad el w1l (Carriage Inward) 16,000; J=mafe <
(Administration Expenses) 96,000; fasha & fad=or @i (Selling & Distribution Exp.) 1,12,000; 79 &
fasa | @ (Profit on sale of machine) 1,12,000; R uRR=mer @1 (Non-Operating Expenses) 30,000;
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amaaR (Income Tax) 50,000; Fare™ fohamei & omH (Revenue from operations) 16,40,000; =Tcl
forametl ¥ M| 99T (Revenue from operations return ) 40,000.

Gross Profit 100 7,68,000 < 100 = 48%

Net Revenue from operations 16,00,000

got: (i) Gross Profit Ratio =

Gross Profit = Net Revenue from Operations — cost of Revenue from Operations = Net revenue
fromOperations — (opening inventory + Purchases + wages + carriage inwards — closing inventory)

= (16,40,000- 40,000) — (1,20,000+ 8,40,000+56,000+16,000-2,00,000) =16,00,000-8,32,000= 7,68,000

.. . . . Operating Profit 5,60,000
(ii) Operating Profit Ratio = d 9 Prof - 100 x 100 =35%
Net Revenue from operations 16,00,000
e . . Net Profit 5,92,000
(i11) Net Profit Ratio = ! . 100 ———x 100 =37%
Net Revenue from operations 16,00,000

Net Profit = Operating Profit — Non Operating Exp + Non Operating Incomes = 5,60,000 — ( 30,000 +
50,000) + 1,12,000 = 5,60,000 — 80,000 + 1,12,000 = 5,92,000

5fafT R g™ (Return on Investment or ROI) :39 U &1 ARSI il W 5amd (Return on
Capital Employed) i} ®&d 2| U@ @Rl & @ & &1 420 Sqawy Ioll W omg Afsid &% 81 &
GATY BT AT ATGIDBAT DI AU T U | HIT ST 8 | I8 AU AT & B AT A1l 9 qd B
am(PBIT) vd fafafora 4oh & wen | ogaq ovan € |

fafeifora goit (Capital Employed) & 3R 6T H oW IY 1 qreiaiei= ®Ni (Long Term Funds) 9 % |
<f fafrnfea goit § <eerele kor A1 wnfde 81 & | o dredreld ol W Y T S Bl 39 AU
@Y O B FHI AR H A TS werT o7 €|

Net Profit before interest,Tax & Dividends
Return on Investment = - x 100
Capital Employed

fafeifora 4Si (Capital Employed)@®! o 71 3 ¥ f&<fl Uap fafer | &1 S |l & |
(i) Liabilities side Approach: - Capital Employed = Shareholders Funds + Non-current Liabilities (Long
Term Loans + LT Provision-Non Trade Investment — Fictitious Assets)

(i) Assets Side Approach : Capital Employed = Non-current Assets + Working Capital

Non-Current Assets = Fixed Assets (Tangible Assets + Intangible Assets) + Non-Current Investment +
LT Loans & Advances.

Working Capital = Current Assets — Current Liabilities.

dre: Ife faffarTT @ IR # W T 81 af 3% Trade Investment & AFT SR |

HEwd— AT AU [Hel W ATAIRIG HRIT B AU ATRIIGAT AT BRIl Pl AIT BT FaIdd IR & |
g U ot 2 b wven gr1 Ao Gl @1 fhah guer & @y wAnT A o e § | 39 U
P FERAT I B QT BT BN FIAA B ST9 Bl AT Fhll © |

Jarevvl 22 — frEfaRad el @ werdr | e w g (@S §o W gem) &% d o
PN : From the following informations, calculate rate of Return on Investments:

321 Yol (Share Capital) 1,00,000, H=rd Td 3faad (Reserves & Surplus) 50,000, ¥ il S¥iidl (Tg)
(Fixed Asset-Tangible) (Net)-4,50,000, iR =re] @amiRe faf=T (Non-Current Trade Investments)-
50,000, =T |FHafrt (Current Assets)- 2,20,000, 10% <re@rei™ o1 (10% Long Term Loans)- 4,00,000,
=1e], &1 (Current Liabilities)- 1,70,000,#% ¥ 4d g€ o4 (Net Profit before Tax)- 1,80,000.

Net Profit before interest & Tax 2,20,000
ga:—Return on Investment = - x 100=
Capital Employed 5,50,000

x 100 =40%

Net Profit before Interest & Tax = Net profit before Tax + 10% Interest on Loan
= 1,80,000 + 40,000 = 2,20,000.
Capital Employed = Share Capital + Reserves & Surplus + 10% LT Loans
= 1,00,000 + 50,000 + 4,00,000 = 5,50,000
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(E) fafrarr faveryor 31UTd (Investment Analysis Ratio)

(i) 9fr 3fer o= (Earning Per Share — EPS): Tf 3797 3roie @) 10T HaT SiRnRal & fog Suerer ot
H FEAT 3T BT AT BT AT B DI SR © | I8 U (I7IT SUId 8 S I§ Il © (b IAd FAAT e
R fa omg Ifia @1 TE £ oEm AFG (AS) - 20 B ATAR FHEAT FEIRAT & forg Sucrer @l B
T BRI T ATIHR 3 AT BT TSR SR JoI IHT FHAT T B AT F AR 3@y § qabram
THAT @t B 9IRT T W= W E

Net Profit After Tax—Preference Share Dividend

Earning Per Share (EPS) = -
Number of Equity Shares

HE<a— U8 U FHaT RAT 1 gfe | Agwayel g 2
Y8 UM GHAT ¥ & IR Hed BT W FEIfad FRaT B | Ui 3fer sreiE (EPS) argurd foaer Ser g8nm
P B T BT I I of &b BRI | YRV BRI DI ARTRET YSI B FaRT HRAT AN BT AT
A @ @ § o gfg Brf
JaTERvl 23 — 9= gaemRil ¥ ufd & A (EPS) @1 ToMr @ —From the following informations,
calculate Earning Per Share :- Equity share capital of (&¥dT 3721 Ysil) 10 each fully paid- 5,00,000, 10%
Preference share capital of (318A™ 7% goil) 10 each fully paid - 1,00,000, General Reserve (M= H23)
— 1,50,000,Net Profit Before Tax(@R gd g[g @™)-3,00,000, Tax Rate Assume (@R &I &% A1) 30%

Net Profit After Tax—Prefence Share Dividend _ 2,00,000 _
Number of Equity Shares - 50,000 -

gcl:Earning Per share =

Net Profit after tax & preference share dividend

= 3,00,000 — (30% of 3,00,000) — (10% of 1,00,000) = ¥ 2,00,000

No. of Equity Shares = 5,00,000+ 10 = 50,000 Shares

(ii)ufay efer @mer (Dividend Per Share DPS):Wft 3f3T SIS M BT 98 WNT ® ST AHAT Sf9enRay #
foaRa amrer @ got R & Har St @ HEAT BT AN 3 W AT Wiy i oo ¥ ug wd ' € &
FHAT SRR AT o™ U1 B BT ABRT & by I8! ARgol IR IH U1« 8 Biell | I B & a4
BT Th 9N HHAI gRT D o1 ST 8 | A R & A™Ier $9 § IH A< Bl 2 |

.. Dividend paid to Equity Shareholder
Dividend Per Share =

Number of Equity Shares
(iii)@mier e Ui (Dividend Payout Ratio): I8 3 urd |\ar izl # faaRa f&d & ufa ofwr
STIIET T v UfT 373 ool & 1T JMfUd &Rl €| I8 9arar € aAar RERal | wwfyd Il &I
T W17 (3 uTa) S=° arier w9 # faaRa fear war g |
Dividend Per Share

Dividend Payout Ratio = x 100

Earning Per Share

IS AT YA U Bl 100 | 9§ =T f&ar S a1 aml @1 g8 IR S 6T | R[] B, A 81 ST |
S AT SRl T SATIRT YITaT TJUTd 65% I AT SHaT URERT  afsi= 37urd 100— 65% = 35% BT |

SJETERYT 24: A1 fol. @ fFrafaiRad gaemell | (1)afdeier sreid (2)ufsier arier gd (3) o™ieT Iae U
@1 TTOET BT [From the following informations of Tanvi Ltd. calculate (i) Earning per share (ii)
Dividend Per Share &(iii) Dividend Payout Ratio:10%, 2000 Preference shares (1€A™ 3ienof 100 each
2,00,000, 50,000 Equity shares (F9aT 3721 of 10 each- 5,00,000, Profit after tax (BY U IHI) -
3,80,000, Equity Dividend paid (FHdT 372 <412 @ 40%.

Net Profit after Tax—Preference share Dividend

gel:(i) Earning Per Share = No.of Equity Shares

3,80,000—(10% of 2,00,000)  3,60,000
= = = 7.20 Per share
50,000 50,000

Dividend paid to Equity share holders _ 2,00,000
No.of Equity Shares - 50,000

397

= 4 Per Share

(ii) Dividend Per share =



Dividend Paid to Equity shareholders = 40% of 5,00,000 = 2,00,000Dividend Per Share

Dividend Per share

(iii) Dividend Payout Ratio =

x 100 = %x 100 = 55.56%

Earning Per Share
SaT8RYT 25 : Sl fof. @ gl & 71 21w foR) T 8 :—Following particulars are extracted from the
books of Jony Ltd.:

Share Capital (32 goi) - 4,00,000, General Reserves (M= d=3) -2,04,000, Profit and Loss Alc
Balance (& g1 @1ar 2m) - 1,87,000, 11% Debentures (11%3&0T 95)- 2,00,000, Current Liabilities(aTe]
TRIE)- 2,09,000, Non-Current Assets (IR =@Te] 7Rl - 5,60,000, Inventory (&5=1) - 1,98,000, Trade
Receivables (@ma1Re 9r=ram) - 3,70,000, Cash and Cash Equivalents(f#g Td g ged) - 72,000

o=t SrguTdl @1 7oET BT —Calculate following Ratios :

(i)are] 3rgura (Current Ratio),(if)eaRd argura (Quick Ratio) : (iii)zko—waar argurd (Debt Equity
Ratio);(iv)atca 3qurd (Proprietary Ratio); Td (v)3Ner &THedT 3rgura (Solvency Ratio)

Current Assets  6,40,000
Current Liabilities 2,09,000

Bal: (i)Current Ratio = =3.06:1

Current Assets = Inventory+Trade Receivables + Cash and Cash Equivalents
= 198000 + 370000+ 72000 = 640000

Quick Assets 4,442,000
Current Liabilities - 2,09,000

(ii) Quick Ratio = =211:1

Liquid Assets = Current Assets — Inventory = 6,40,000 - 1,98,000 = 4,42,000
=0.517:1

External Liabilities __ 4,09,000
Internal Liabilities  7,91,000

External Liabilities = 11% Debentures + Current Liabilities = 2,00,000 + 2,09,000 = 4,09,000

Internal Liabilities = share capital + General Reserve + Profit & Loss Balance = 4,00,000 + 2,04,000 +
1,87,000=7,91,000

(iii) Debt — Equity Ratio =

Shareholders Fund _ 7,91,000
Total Assets = 12,00,000

=0.659:1

(iv) Proprietory Ratio =

Share holder’s fund or Internal Equity or Internal Liabilitiesi.e.7,91,000

Total Assets = Non current assets + Current Assets = 5,60,000 + ( 1,98,000 + 3,70,000 + 72,000) =
12,00,000

Total Debt _ 4,09,000
Total Assets  1,20,0000

(v) Solvency Ratio = =0.341:1

Total Debt = Non current liabilities + Current liabilities = 2,00,000 + 2,09,000 = 4,09,000
TaTER0T 26 : AR fo1. &) qeaet 9 freferRad e e @1 T €

Following informations have been obtained from the books of Miraj Ltd. :

Particulars 2015 -16 2016-17
Revenue from operations(FaTe™ ¥ 3MTH) (at Gross Profit of 25%) 20,00,000 30,00,000
Trade Receivables on 1% April(@RS regarg : 1 37e) 3,00,000
Trade Receivables on 31* March(&miRe Urerdrg : 31 #r9) 3,50,000 5,00,000
Inventory on 1% April: (¥B=T : 1 3Wc) 3,20,000
Inventory on 31 March(¥h=1 : 31 HT9) 3,60,000 4,40,000

THEl qul & foly AUIRe UMy JTad AU Td Iheel 3Tat (U DI ITOET HITSTY Td JTaeddh fwoll SIomg |

Calculate Trade Receivables Turnover Ratio and Inventory Turnover Ratio for both of the years and give
necessary comments.
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gol:Year 2015-16

Net Credit Revenue from operations _ 20,00,000

Trade Receivable Turnover Ratio = - = = 6.15 times
Average Trade Receivables 3,25,000
Average Trade Receivables = Opening Trade Receivables;closing trade Receivables
- 300,000+ 350,000= 3’25’000
Inventory Turnover Ratio = Cost of Revenue from operations _ 15,00,000 — 4.4] times

Average Inventory = 3,40,000

Cost of Revenue from Operations = 20,00,000 — 25% of 20,00,000 = 20,00,000 - 5,00,000= 15,00,000

Opening Inventory+closing Inventory  3,20,000+ 3,60,000
Average Inventory = = = 3,40,000

2 2
Year 2016-17

Net Credit Revenue From Operations _ 30,00,000

Trade Receivables Turnover Ratio = - = = 7.06 times.
Average Trade Receivables 4,25,000
q9 201516 @& 2Af<TH ARG U, 99 2016—17 B RIS U™ 81 |
. 3,50,000+ 5,00,000
31 Average Trade Receivables = ———— = 4,25,000
. Cost of Revenue from Operations 22,50,000 .
Inventory Turnover Ratio = ! ! P = = 5.625 times

Average Inventory - 4,00,000
Cost of Revenue from operations = 30,00,000 — 25% of 30,00,000
= 30,00,000-7,50,000 = 22,50,000
Opening Inventory+Closing Inventory
2
Y 2015—16 BT AfTH TheT , I¥ 2016—17 BT RBTH Thl BN |

3,60,000+ 4,40,000
3Td:  Average Inventory = 5 =4,00,000

ool (Comments) :1.95 2016—17 H ATURE UM MG AU 6.15 1 H IGH 7.06 AT &1 AT B, 37
eI <RI ¥ 2udr ¥ w9Ar 99w @ 2|

2.9 2016—17 # TH=E JATIA SFUNT 4.41 AT A TEHR 5625 AT &1 AT &, I8 A1 AT B FHIeT Wbl Il
B yaf3fd oxar €1

Aie: Fhe I a1 SUR G & aR H Pz o e A Mg €| AT AMURS U AT IGUIT DI IO
Revenue from Opertaions P IS AR/ W S P E B

SEIET0T 27: 31 AW 2017 B FAG BF Al 9¥ @ folw IuSel = el @ ()FEA ™ Irgurd
(i) TR=Te U (iii)uR=arer a9 AU UG (iv)g o™ AU BT TOFET BT

Average Inventory =

From the following figures available for the year ending 31 March 2017, calculate (i) Gross Profit Ratio
(i1) Operating Ratio (iii) Operating Profit Ratio & (iv) Net Profit Ratio,

Cash Revenue from operations (HaTe™ | &g 3M°H)- 50,000, Credit Revenue from operations (FaTe &
YR ) - 1,00,000, Purchase (53):(Cash 20,000, Credit 68,000), Return outwards(SiTad ara=il) - 5,000,
Opening Inventory (IRf&™& ) - 20,000, Closing Inventory (3ifa ¥hel) - 10,000, Carriage inwards (3Tad
TS WrST) - 3,000, Salaries (99) - 3,500, Other Office expenses@= e &4) - 5,000, Selling
Expenses(fda @) - 6,500, Income from Investments(fafSa i &1 3ma) - 7,000, Interest on Loan(3&oT W
o) - 8,000, Loss by Fire@TT | &) - 4,000, Wages (\AsTgXl) - 4,000.

Gross Profit __50,000

Revenue from operations 1,50,000

& (i) Gross Profit Ratio = x 100 = 33% %

Revenue from operations = Cash Revenue from Operations + Credit Revenue from operations
= 50,000 + 1,00,000 = 1,50,000

Net Purchases = cash purchase + credit purchase — return outwards
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=20,000 + 68,000 - 5,000 = 83,000
Cost of Revenue from Operations = Net purchases + changes in inventory + carriage inwards + wages
= 83,000 + (20,000 - 10,000) + 3,000 + 4,000 = 1,00,000
Gross Profit = Revenue from Operations — cost of Revenue from Operations

=1,50,000 - 1,00,000 = 50,000

Operating Cost __ 115,000

100 =

Revenue from operations 1,50,000

x 100 =76.67 %

(ii) Operating Ratio =

Operating Cost = Cost of Revenue from Operations + Salaries + Other Office Expenses + Selling
Expenses = 1,00,000 + 3,500 + 5,000 + 6,500 = 1,15,000

Operating Cost 35,000
100=—"——

Revenue from operations - 1,50,000

x 100 =23.33%

(iii) Operating Profit Ratio =

Operating Profit = Revenue from operations — operating cost = 1,50,000 - 1,15,000 = 35,000

Net Profit 100 = 30,000
Revenue from operations " 1,50,000

(iv) Net Profit Ratio = x 100 = 20%

Net Profit = Gross Profit + other operating Income —Other Operating Expenses + Non-Operating Income
— Non operating Expenses(@T)Net Profit = Operating Profit + Non Operating Income — Non Operating
Expenses = 35000 + 7,000 — (4,000 + 8,000) = 30,000

TJETERVT 28 : A1 QT T8 AT I Feraar § = rurdl &I 7o H7

Calculate the following ratios with the help of the informations given below:

(1) dref AFUrd (Current Ratio), (ii) el o 3TJUTd (Gross Ratio), (iii) U AT 3UTd (operating Ratio),
(iv) Y& <™ Ui (Net Profit Ratio), (v) AT W) U (Return on Investment)

Fa-(Informations): I3 UG #eME (Plant & Machinery) - 5,00,000, iR =7e] @maiiRé faf=RT (Non Current
Investment Trade) - 2,00,000,@Te] Rt (Current Assets) 3,00,000, =Te] TR (Current Liabilities) 2,00,000,
gReTer | 3ITH (Revenue from Operations) 10,00,000, T (Purchases)7,50,000, URME bl (Opening
Inventory) 45,000, I~ FheT (Closing Inventory) 55,000,147:1@ (Wages) 20,000, BT I (Office
Expenses) 40,000, =T TR &aToi(Interest on Debentures) 10,000, 3TIRR (Income Tax) 20,000

Bol:—(i)Current Ratio = Current Ass,e,tS: = 200000 _ 1.5:1
Current Llabilities 2,00,000
(ii) Gross Profit Ratio = Revenue from opertions—cost of rever?ue from operations _ 2,40,000 < 100 = 24%
Revenue from operations 10,00,000
Cost of Revenue from operations = Purchases + changes in Inventory + wages
= 750,000 + (45,000 - 55,000) + 20,000 = 7,60,000

Gross Profit = 10,00,000 - 7,60,000 = 2,40,000
(iii) Operating Ratio = —2perating cost = 800009, 160 = 80%

Revenue from operations 10,00,000
Operating cost = Cost of Revenue from Operations + office expenses = 7,60,000 + 40,000 = 8,00,000
(iv) Net Profit Ratio = Net Profit = L70009 160 = 17%

Revenue from operations 10,00,000

Net Profit = Gross Profit — office exp. — Interest on debentures — Tax = 2,40,000 - 40,000 - 10,000 -
20,000 = 1,70,000
(V) Return on Investment = Net Profit before {nterest & Tax and DividendsX 100
Capital Employed 8,00,000
Net Profit before interest & tax = Net Profit + InterestOn Debentures + Tax
=1,70,000 + 10,000 + 20,000 = 2,00,000
Capital Employed = Non-current Assets + Working Capital

= (5,00,000 + 2,00,000) + (3,00,000 - 2,00,000) = 7,00,000 + 1,00,000 = 8,00,000

_2,00,000

x 100 = 25%
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SETEXVT 29: 31 HIE, 2017 Pl RN fol. &1 fIesr 1 € —
The following is the balance sheet of Anuradha Ltd. , as at 31* March 2017:

Particulars Note No. Amount
I Equities and Liabilities
(i) Shareholder’s Funds :
(a) Share Capital 15,00,000
(b) Reserves and Surplus 10,00,000
(ii) Non-Current Liabilities
Long Term Borrowings 1 15,00,000
(iii) Current Liabilities
(a) Trade Payables 2 6,00,000
(b) Other Current Liabilities 3 1,00,000
(c) Short Term Provision 3,00,000
Total 50,00,000
IT Assets
(i)Non Current Assets 30,00,000
(ii)Current Assets
(a) Inventory 10,00,000
(b) Trade Receivables 6,00,000
(c) Cash and Cash Equivaletns 4,00,000
Total 50,00,000

Notes :(i) Long Term Borrowings : 9% Loans- 10,00,000, 12% Debentures — 5,00,000 , Total= 15,00,000
(ii) Other Current Liabilities: Out standing Expenses — 1,00,000
(iii) Short term Provision:Provision for tax- 3,00,000
I {j}lvﬂﬁ 1 ¥&R & (Other informations are as follows):Net Revenue from operations- 75,00,000,
Cost of Revenue from Operations- 60,00,000, Operating Expenses- 6,00,000
DT =1 STUTdl @ 0T R & —You are required to calculate following ratios :-
(i)Current Ratio(=re] argurd)(ii) Quick Ratio(caRe 3rgura), (iii) Debt- Equity Ratio(ZRo—¥HdT 31UTd), (iv)
Inventory Turnover Ratio(¥=¢ afac 31guTd), (v) Proprietory Ratio(¥mfi@ argurd), (vi) Gross Profit
Ratio(dedel o™ 37uTd), (vii) Operating Ratio (qR@TeT™ 31urd), (viii) Operating Profit Ratio (UR=Te™ <4
J1urd)(ix) Net Profit Ratio(Jg < 317Urd)

. . Current Assets 20,00,000
Bd :(i) Current Ratio = ———— =—
Current Liabilities 10,00,000

Current Assets = Inventory + Trade Receivables + Cash & Cash Equivalents = 10,00,000 + 6,00,000 +
4,00,000 = 20,00,000
Current Liabilities = Trade Payables + Other Current liabilities + Short Term Provision = 6,00,000 +

1,00,000 + 3,00,000 = 10,00,000

.o . . Current Assets 10,00,000
(ii) Quick Ratio = ———— =1:1
Current Liabilities 10,00,000

=2:1

External Liabilities 25,00,000
Internal Liabilities = 25,00,000
External Liabilities = Non-current liabilities + Current Liabilities

=15,00,000 + 10,00,000 = 25,00,000
Internal Liabilities = Share Capital + Reserves and Surplus = 15,00,000 + 10,00,000 = 25,00,000

Cost of Revenue from operations _ 60,00,000

=1:1

(iii) Debt Equity Ratio =

= 6 times

(iv) Inventory Turnover Ratio = =
Average Inventory 10,00,000
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s e ¥ URMD, Sifed whe B B Ga T8 2, o Rres # ueid W @ SR W€ oA @ e
2 |

Shareholder's Funds _ 25,00,000

(v) Proprietory Ratio = Toral Assors = 5000000 = 0.5:1

Shareholders funds or Internal Liabilities = 25,00,000

(vi) Gross Profit Ratio = Gross Profit 100 = 222999 100 = 20%
Revenue from Operations 75,00,000

Gross Profit = Revenue from Operations — Cost of Revenue from Operations
=75,00,000 - 60,00,000 = 15,00,000

Operating Profit x __ 66,00,000
Revenue from Operations - 75,00,000

(vii) Operating Ratio = x 100 = 88%

Operating Cost = Cost of Revenue from Operations + Operating Expenses
= 60,00,000 + 6,00,000 = 66,00,000

(viii) Operating Profit Ratio = Operating Cost 100 = 22229 4 100 = 12%
Revenue from Operations 75,00,000
Operating Profit = Revenue from Operations — operating cost = 75,00,000 - 66,00,000 = 9,00,000
(ix) Net Profit Ratio = NetProltt 5100 = 2222%x 100 = 10%
Revenue from Operations 75,00,000

Net Profit = Operating Profit — Non Operating Expenses
=9,00,000 — ( 9% of 10,00,000 + 12% of 5,00,000) = 9,00,000 — (90,000 + 60,000) = 7,50,000
IR—uReETe @ & w9 H ST F0T Td RUUAT IR TSl TSIaR Yg o™ S1d (HaT 7 ¢ |

EINE (Summary)

o JUN— 3 FARN & URWRG TR P OIS ®F H THS HIAT AU B © | 399 Afgo
[ @ siferfad gl €

o UM fawayor — < fAa=oll &1 A]l a1 91 & Tl BT MU § T W@IUd FR fGaRol 3 a_a
TN e w9 H IR HRAT U fIweryor € |

o UMl P fEfad — orguEl @ W FHR ¥ R fhur o1 wear & () YE IgId B w9 H
(i) &R/ & w9 A (ii)wfoed & w9 A |

o U ATV & IR — UM B R W fAemer & 9 o™ § ¢ (i) R fawervor § |gris
(ii) ondmsl BT ARl (iii) dRaar Refd &1 = (iv) 9eF emar &1 99 (v) fharfear &1 9=
(vi) FMETRIGAT BT A9 (vil) oIS g H WS (viil) Ugfa edaT W AR

e U fawawer @ WA () f<im faaxot & Al @& ARa e () e 9 wwfag
(iil) gUd—yo® G A @ SMER R o fdead=iid (iv) fdgelysd & JAFIAT Ud YeTurd BT JHTd
(v) oS faeeiwor &1 emra (vi) A @ folu o o urd iaRad (vii) WAl IgAEI HoSTrd
(viii) ¥gfRT &1 A9 T BT

o UM B WA H WEEn3Ar : (i) <@ GHGI BT T B Argan, (i) R fAeRoil & R g1 g e
AN JARTHAis ®I Iueel BR1s o | (iii) SIFUAl & WANT | U B dTel Ml & W2 39
qRePe H T aTell ARG BT &9 H AT e | (iv) TARTHAT & FHel Dol AR AU IR
FHAT| (v) AEaTys aRRefRl # aRads 89 R srurdl § 1 Heied s+ |

(cf@i® argurdi & ) Formula of Accounting Ratios

31. axerar 3rgura (Liquidity Ratios):

. Current Assets .. . Liquid Assets
1.Current Ratio = ; 2.Liquid Ratio =

Current Liabilities

Current Liabilities ’

9.2eF U (Solvency Ratios):
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3. Debt-Equity Ratio =
4. Proprietory Ratio =

6. Interest Coverage Ratio =

External Liabilities Total Debt

r
Internal Liabilities Shareholder's Fund
Proprietor'sFund Total Debt

>

Total Assets

; 5. Solvency Ratio =
Total Assets

Profit before Interst and Tax

Fixed Interest Charges

. fopamefierar srgura (Activity Ratios):

7. Stock/Inventory Turnover Ratio =
8. Trade Receivables Tunnover Ratio =

9. Average Collection Period =

10. Trade Payables Turnover Ratio =
11. Average Payment Period =

12. Total Assets Turnover Ratio =

Cost of Revenue from operations

Average Inventory
Net Credit Revenue from Operations

Average Trade Receivables
No.of daysin a year

Trade Receivables Turnover Ratio
Net Credit Purchase

Aveage Trade Payables

No.of daysin a year

Trade Payables Turnover Ratio
Revenue from opertions or Cost of Revenue from operations

Total Assets

Tamaradar 1gard (Profitability Ratios):

13. Gross Profit Ratio =
14. Operating Ratio =
15. Operating Profit Ratio =
16. Net Profit Ratio =

17. Return on Investment or ROI =

Gross Profit

100

Net Revenue from operations
Cost of Revenue from operations+operating expenses

x 100

Net Revenue from operations

Operating Profit
4 g Prof 100

Net Revenue from operations
Net Profit
100

Net Revenue from operations

Net Profit before Interest & Tax & Dividend
Net Revenue from operations

x 100

I fAFRRT fdgetyor argura (Investment Analysis Ratios):

18. Earning Per Share or EPS =

19. Dividend Per Share or DPS =

Net Profit After Tax—Preference Share Dividend
No.of Equity Shares

Dividend Paid to Equity Shareholders

No.of equity shares

Dividend Per share

20. Dividend Pay-out Ratio = x 100

Earning Per Share

EEAC] (Glossary)

S.No. NEHER] Glossary aref

1. [ESIEEERCIG] (Financial Ratios) | ST 3gura e # & 1§ <1 #&l a1 #&f & g & w4
1d frd S €| 2 faceer srgurd o wEd B

2. | 9R=med 3gurd | (Operating Ratios) | S 3/urd @v—gif+ fdavor # &1 8 <1 Hal A1 9al &
e P A A (b O © |

3. Hgad Ui | (Combined Ratios) | 9 3/ urd el uRapferd wxd 9#Y Tdh g face 4 9
TN AE AM—EI faaRor | <ff SIh ¢ |

4. BNSGI (Liquidity) TRRAT & B FT Td STl BT T @l & |

5. NIEEREERI (Solvency) I & SIedIel 0T Ud SIcdl Bl Febr dI & |
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6. farefrerar Activity Ratio el gRT §HREl Td ol & gWIdl SYAIRT & gad
STgHIC SEINE

7. AT ST Profitability TRAT B A ARSI - 1 eqar o [ a1 =
A ARG FR AT AT R

8. Ire] ARl Current Assets g TRl S FadE @ WM < W MR e
Ih B qAfy #H A faes @ ffy | 12 7 # qHwe #
gRafda 81 Sl € |

9. EIGEHIER Current Liabilities | 9 SR =1 YA AW GaTel= b & faer H a1
face @t fafyr | 12 718 § & 2

10. IR Tt Liquid Assets 9 gl 52 Wg & The Jfrar Tehe gedi d uRdfd
fpar ST Hpar €1 o ¥ Ud Ydad Fdl Bl BISHR
A ATe] FHRMT BT AR FHRT AT ST € |

11. e DY External Equity | % & <IHdleid kUl SdelE ARGHN a7 4Te]
SRl T AT aT8¥ By BT |

12. SIRIREY Internal IR BN H IS qAT Fad U4 SMEF T AT

DY /FIR | Equity/Shareholder’s | 2Nl 8T fbeg wfera giivrdl dem |2 Wikl &1 el
Gkl Funds [ERIES

13. HH |Fefrt Fictitious Assets | 9 @d ST 31qfeiRad =8l 8 U &I | oI —32 Ud Forg=li
& e ) oem, ®wvuml & e W 9eer/E,
IO HHIRM Ud YRS @39 371 |

14. FHol FEREl Total Assets WIT B A IR—=Ie] FWRiEl Ud drq] qRRil @
ANT | S R BN H IR A1 AT qAT =1 <M<l
HT AT F= W A1 far o1 Faar 2

15. | ReRr =a1eT y9R Fixed Interest AT & QTEBICT 01 UR GBI ST Tl T |

Charge

16. GIRe 9T | Trade Receivables | G gRT 309 TaRl U4 Uiy fqusll | a¥gal &1 S
qrell RIMRM AT $77ebT AT | AR T 377ad AT Bl
TOET BRI FHY AT ol B U SRISE Bl ger
& Y |

17. | @aiRe <gan Trade Payables | %I & oFaRi Qd <d fAu= &1 AT |

18. | GaTET 9 ATTH Cost of Revenue (Cost material consumed + purchase of stock-in-trade +

BI AT from operations changes in inventory + direct expenses(Carriage, wages
etc).

19. gR@Ter @ | Operating Expenses | TaTae ¥ 3R &1 ARTd & JffaRad aiReare | i
31 & | S Employee benefit expenses, depreciation,
office & administrative expenses, selling & distribution
expenses, discount, bad debts, interest on short term
loan etc.

20. 3 fReErer Other Operating | @aTe™ ¥ MM & JfRead aRared &4 § Afid a1

Mg Incomes 3mg, SCommission & discount received
21. SIREICEECIRIE Operating Cost T & Y JIIR 9 GHEREd 9H AN | S9H

AT | I &1 ANTd § 3 IRATAT AT Bl STl
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TAT 37 3T BT TSRAT ST ¢ |

22. NEACIC] Gross Profit ATl fshamsil ¥ Y SIFTH &1 HATeTd ¥ ANTH Bl AN
TR 3MTEe |
23. aiR=ETer S Operating Profit | |aTe IRl & Yg H &1 gRATTT AT W
TRy |
24. g a9 Net Profit TS s GRT @ Adre fEapi |4 @™ g iR
AT fBarett | oty BT AT |
25. fafarT w Return on U AT RT 3T SIEdTele HIEl R SIRId &I ST drel!
Eren Investment U &1 SR |
26. | 9f 3 39 | Earning Per Share — | SR §RT 309 UAS AHAT 32 WR ARG DI Tg ™ B
EPS Ruiil
27. | 9fd afer @™ie | Dividend Per Share | G §RT 37U Ui FHAT PN dI faaiRd arrer @t
- DPS M|

argrAref U9 (Questions for Exercise)
ggaadrdd U3 (Multiple Choice Questions):
1.0 AT BT Thel 3Tad AU 6 AT © | U BT I8 Afveafaa &
Stock Turnover Ratio of a concern is 6 times. This expression of the ratio is :
(31) g& U (Pure Ratio) @) <X ® 9 # (Rate Ratio)
(wfaerd @ w9 # (In the form of the percentage) () S99 ¥ &I &1 (None of these)
2.379UTd faeeiyor &1 3529 © The objective of Ratio analysis is :
(37) Rerar Refdr &1 99 (Knowledge of liquidity position) — (d) @maradar @1 w(Knowledge of Profitability)

() = ear &1 @9 (Knowledge of solvency position) (&) Sugdd |1 (All of the above)
33790 BT YRS PR T9I O b Ha fIes A A gl A av—ele fdaror | & Sl €, a1 o

3UTd DBl T 1At the time of calculating ratio, one item is taken from balance sheet and other item is
taken from Statement of Profit and Loss, then the ratio is called :
(31) forear argure (Balance Sheet Ratio) (@) @M—g81f fdaRor J1guTe (Statement of Profit and Loss Ratio)

(W) wgad srgura (Joint Ratio) () 379 & Pis 72 (None of these)
4TINS ST TgUTd &1 ERT A 8 :Another name of working capital ratio is :
(1) @ReT 3rgura (Liquid Ratio) (@)=me], rgura (Current Ratio)

() ot aRerdn arurd (Absolute Liquid Ratio) (<) @riefier Yot mae srgurd(Working Capital Turnover Ratio)
5.37& 2l =Te] 3rFuTd AT S & :Ideal Current Ratio is assumed:

(1) 3:1 @) 11 (|) 21 (@) 1:2

6.7 U @1 ITVFT o T 71 # 3 g FRaRy &I &9 =781 <1 SI1an &

Which of the following assets is not taken into consideration to calculate liquid ratio :

(@Nwp< (Inventory)  (d) IR (Debtors) (A)R1g (Cash) (%) 9= fau=m (Bills Receivables)
7.0% B DI YIS I SUR (G 30 37 21 GUBT o1 e | I8 TWRIG AT 941 IRAR, af s
3ITAT BT Srafe B

Credit period to customer of a company is 30 days. Its credit collection would be poor if its average
collection period is :

(@1) 36 a1 (Days) @) 28 faA(Days) (|) 20 & (Days) () 15 f&71 (Days)
8.f% 365 a7 ¥ TUIRS IJAT 3Mad AT &I AN & AT I8 AU BRI

If the Trade Payable Turnover Ratio is divided by 365 days, it become a ratio of:

(@1)¥m=1 d 3vAa 3rafSi(Average age of Inventory) (@) fraa wugvr srafer (Average Collection Period)
(4) Sira AT s7afr (Average Payment Period) (G) % IV 3rafr (Cheque Collection Period)
9.9 T P BT YR AU 78% & AT SABT RIS A AJUTT BT
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If operating ratio of a company is 78%, then operating profit ratio will be :

(81)100% (@)22% (9)28% (2)24%

1096 HHT BT e A UTd 4 & TAT SHD FATe I (H d T 2,40,000 & AT I b
BIT:

The inventory turnover ratio of a company is 4 and its cost of revenue from operations is 2,40,000 then
average inventory will be:

(@1 9,60,000 (#)1,80,000 (91)1,20,000 (2)60,000

11 & WA & BN Td o Gl & 70 G Iad HRdl 2

The relationship between shareholder’s funds and total assets of a concern is expressed by:

(31) roT — HHaT 31Ut (Debt-Equity Ratio) () 2ned erar argura (Solvency Ratio)

(4) w@rffcd srgurd (Properietary Ratio) (]) wifficd @Il Wk yeard (Return on Proprietor’s Funds)

12.0% HFIT BT URT 32T 1S9 6 AT Uil 32 AT 4 B AT AT I AU BT

If earning per share of a company is 6 and dividend per share is 4 then dividend payout ratio would be
(@1)50% @) 25% (@) 50% () 66.67%

I RIS 999 (Very short answer type questions)

1.37JUTd | AT 3™ 2 ? What is meant by ratio?

237901 faweiyor f6d Ped 82 What is Ratio Analysis?

3.3790Td fazeryor &1 &1 WM 9ad1sd | Give two limitations of Ratio and Analysis.

4.3/urd fageiyor & <1 Igaed 9d1gd IGive two objectives of Ratio Analysis.

5% U ¥ 39 T FASK 87 What do you mean by Liquid Ratio?

6. TIE &HdT 3T | T AR 22 What is meant by Solvency Ratio?

7.~ argura f&¥r @8 €7 What is Financial Ratio?

8. T4 ATac UTd W T e 22 What is meant by Inventory Turnover Ratio?

9.3 a U @y f ®wEd g2 What is Average Collection Period?

10. fopameiierar srgurd m wafRid #=d 82 What do Activity Ratios indicate?

11.379d SamaTRes U= | @7 MR €2 What is meant by Average Trade Receivables?

12.9R=TE 3UTd | T AR 22 What is meant by Operating Ratio?

13.f4%8 & MR W =1G (A S dlel QT AMe>Ibar ural & = oI |

Name any two Profitability Ratios based on sales.

1437 JFFUTT T TRl 31U H &1 <R &° What is difference between Current Ratio and Liquid Ratio?
15917 3f%T 315 &1 & fofRad? Write formula of Earning Per Share?

16,3113 Rl 31UT &1 82 What is ideal Liquid Ratio?

17.9% BRI BT FO—IFAAT AT 07511 & | BRI §RT QTHPBIei 0T oI IR 9 U IR FIT JH1G BRTT?
The Debt-Equity Ratio of a company is 0.75:1 . If company obtains long term loan, what effect will be on
this ratio?

18. =TS I 37UTd &1 Yafid @xal 82 What does Interest Coverage Ratio indicate?

TgRRTA® 929 (Short Answer Type Questions):

1.307e] 3IGUTd T kel 3uTd ¥ 3ax feRgd | Write difference between current ratio and liquid ratio.
2.379UTd faeeiyor &1 #e<d gargy | Explain importance of Ratio Analysis.

3BT RO & YA DR Bl &AAT UR DTN STl dlel Ul & A1 TR |

Write names of ratios depicting capacity of payment of Long Term Loans.

437907 fderyor @1 TR WHR a1y | Write the four limitations of Ratio Analysis.

53ERAT & DY H BIF—HF Al 73 AMMAS DI AR 57

Which items are included in the Shareholder’s funds?

6.5l oI SJUTd Ud Y& o™ gUTd Bl |9esy | Explain Gross Profit Ratio and Net Profit Ratio.
7.1 3R =rar miRe wre mad rguTd e yTal @ gifar 87
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What are the implications of high and low Trade Receivables Turnover Ratio?
8.9 T AT @1 AN &I o fhd UHR @1 Sl 82 How the cost of goods sold is calculated?
o.faf T 4o &1 oref qaTgy TT 3HW U R YR B SRl 2 |
Explain meaning of capital employed, and how is it calculated?
10.9R=ETeTT o SIUTa T fef Td He<d ol | Write meaning and importance of Operating Profit Ratio.
11.% TR AT BT T ATI AJUTd 15 AT § A1 30D A Wbl BT Jed 20,000 & | A1l Ay
R TR 25% S IR 991 ST 8 | A @ 07 SRR |
Inventory Turnover Ratio of a trading concern is 15 times and value of average inventory is 20,000.
Goods are sold at 25% profit on sales. State the amount of profit. TR : (¢4 1,00,000)
12, T A1 B HrIEE Gt 90,000 7 | AfE DT =T IGUTd 2511 8 AT @Te] ARl Bl TOMT B |
Working capital of a company is 90,000. If its current ratio is 2.5:1, then calculate current Assets.
¥R : (1,50,000)
13.Y% RAT BT URMEH BT 20,000, 1< IBfram aRf™e B[ &1 1.6 AT €| Wh 3MMad JUTd 3.5
T, 550 1,40,000 BT A1 Abel A Bl T DI |
Opening inventory of a concern is 20,000, closing inventory is 1.6 times of opening inventory. Inventory
turnover ratio is 3.5 times and sales is 1,40,000. Calculate the Gross Profit.
IR : (GP 49,000)
14T% HH D fol TEURMN 80,000, IR AT SR 20,000 AT =T JMMAE 1,00,000 & A HH & (1).
FOT—RAAT AU TAT (2). FIHE T BT 0T I |
Total Assets, Non-Current Liabilities and CurrentLiabilities of a company are 8,00,000, 2,00,000 and
1,00,000 respectively, then calculate (i) Debt-Equity Ratio and (ii) Proprietary Ratio.
IR ¢ ((i) 0.6:1(ii) 0.625 : 1)
s wea (Essay Type Questions)
1.373uTd faeetyor @ 8? $H@T We<d 9a1sd What is Ratio Analysis? Explain its importance.
2.379urd faweryor &1 AHY feTRaY (Write down limitations of Ratio Analysis.
3.foharelierar srgural | T STery g AMfhareierar srgul Bl fARR W HHea |
What is meant by Activity Ratios? Explain in details three activity ratios.
4fAFRINT R IR W T AR 57 AP He<d qa] gY SaTex0l Afed gqd! o Al FHemsy |
What is meant by Return on Investment? Give its importance and explain procedure to calculate with the
help of an illustration.
5.fAFRIRT favelvor 9= geaTer ST arel (1)MRT 3 s (2).9fT ofer Anier Ud (3). omier I SrguTdl Bl
S |
Explain (i) EPS (ii) DPS and (iii) Dividend Payout Ratios, reflecting investment analysis.
IEIIAHD Ul B I
=03 (@)= [0% @3 [0 [Os [0 (e« (67 [(0)s]anw]a2)]
3Tifd®d w29 (Numerical Questions)
1.fforRaa aRRerfcral # =me] AIguTal Ud aRel guTdl &1 UReber BIfTg:
Calculate Current Ratios and Liquid Ratios in following conditions:
(a) Current Liabilities 48,000 ; Inventory 78,000; working capital 96,000
(b) Working Capital 40,000 ; Liquid Assets 10,000
(c) Current Assets 2,00,000 ; Creditors 10,000 ; Current Liabilities 80,000 &Inventory 60,000
JWR = (a) 3:1 (b) 2.33:1 (c)2.5:1, 1.75:1
2- fy=foaRaa @1 & #IRY —Solve the following:
(a) U6 SO & AT <@ 4,00,000 T | SHBT @] WRRRT 2511 8 T ORel T 151 § | AT
YRR, TRel RN T ¥be BT qed S1d DI |
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Current Liabilities of a company are 4,00,000. Its current ratio is 2.5:1 and Liquid Ratio is 1.5:1.
Calculate the value of current assets, liquid assets and inventories.
(b) I =T U 2.5, TREAAT AU 1.6 T BRI YST 90,000 B AT ATe], FHRMT |, =Te] TR qAT
b Bl Hod ST DI |
If the current ratio is 2.5, Liquidity ratio is 1.6 and working capital 90,000. Find the value of
current assets, current liabilities and stock.
S$TR: (a) 10,00,000, 6,00,000, 4,00,000 (b) 1,50,000, 60,000, 54,000
3t o1, @1 frfaRad Eemell & uRefera SINTT ()Feo—w+dT urd (i) o urd ©d (jii) e
& 3TUTd |
From the following informations of Garg Ltd. Calculate (i) Debt-Equity Ratio (ii) Proprietory Ratio
(iii) Solvency Ratio.
q Fwfrdt (Tangible Assets) & 3,00,000,9% @re] faf@T (Non-Current Investments) 2,40,000,&T9TRS
T (Trade Receivables) 90,000, 31 a1l FwfRidl (Other Current Assets) 70,000, Sreiareli ol (Long
Term Borrowings) 2,00,000,TE@®Tels 3RS (Long Term Provisions) 1,00,000, 3ieqdTel SR (Short
Term Borrowings) 20,000, 3/=1 3ref &M@ (Other Current Liabilities) 60,000
S (i)1.875:1 (ii) 0.457:1 (iii) 0.543:1
4 ffeRad faeren & (IR whwer |, (i) 3ff<TH WheT Td TR U1 SfTad STguTd &I 0T HIFT:
From the following details, calculate (i) Opening Inventory, (ii) Closing Inventory (iii) Trade
Receivables Turnover Ratio.
gRarers fohamell | M @) @rTa (Cost of Revenue from operations) 4,00,000,99%a o % W 20%
(Gross Profit 20% on sales) ¥&=T 3MTad U (Stock Turnover Ratio)5 times, 31f<TH W, URMEG wHwe
¥ 32,000 21 2| (Closing Inventory is 32,000 in excess of opening inventory),qR¥& SRS U
50,000 (Opening Trade Receivables is 50,000),31<H MRS Arw, URBE ATIRES U BT 1.5 T[T & |
(Closing Trade Receivables are 1.5 times form opening Trade Receivables)
SR (1) 64,000 (ii) 96,000 (iii) 8 times.
5. fIReT & TuTRS® UM JATad U Qd JARAT HISIT Al BT TUMT BITSTC:
Calculate Trade Receivables Turnover Ratio and Average collection period from the following:-
Total Revenue from operations for the year (¥ % uRare™ | Hof M) - 8,23,000; Cash Revenue from
operations being 50% of Total Revenue(®el 3MMTH &1 50% <ba UR@Ta 3FH); Opening Trade
Receivables (TRf™&® &mike urw) - 50,000; Cash received from Trade Receivables(@TdiR® 9 & &g
ure) - 3,76,500; Discount Allowed to Debtors (@-GRI @I gcer f&an - 15,000; Revenue from operations
return, out of credit revenue from operations(S¥R RATAT FH | aral) - 10,000
SR:(i) 7.3 times  (ii) 50 days, Hint : Prepare Receivables Account and find closing balance 60,000
6.FFTeIRad Al | Wehel o™ 31U &I 0T BIfoy : Calculate Gross Profit Ratio from the following
informations- 9R@TE ¥ Fda MM (Cash Revenue from Operations) 40% of Total Revenue; & &4
(Total Purchases) 13,50,000;uRRame™ ¥ MTH—SYR (Credit Revenue from Operations) 9,00,000, TRf™d
TH 9 A I BT e (Excess of closing stock over opening stock) 75,000. IR 15%
7. =1 for. @ foRad gaamell ¥ oM ST From the following informations of Tanvi Lid.,
Calculate: (i)@rR=fiar oi argurad (Working Capital Ratio), (ii)@Ra argurd (Quick Ratio); (iii)¥er amad
Ut (Inventory Turnover Ratio) ; (iv)d&a @™ Ui (Gross Profit Ratio) ; (V)W &¥dT 3rurd
(Solvency Ratio) (vi)&&el o 3rurad (Gross Profit Ratio) ; (vii)uR&me™ 31U (Operating Ratio)
(viii)aR=rer o srura (Operating Profit Ratio) (ix)g€ o™ 3urd (Net Profit Ratio)
¥a¢  (Informations) : UR=TE ¥ M (Revenue from operations) 2,00,000 ;53 (Purchases) 1,20,000 ;
URM™% W (Opening Inventory) 12,000; 3if<a9 wh (Closing Inventory) 18,000; #Hsigdl (Wages)
8,000; fasg =g (Selling Expenses) 2000; iﬁ IR FERET (Tangible Fixed Assets) 2,12,000; 3= =Te]
Rt (Other Current Assets) 50,000;31e], <1fad (Current Liabilities) 30,000 ; FHaT 372r 1itvﬁ(Equity
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Share Capital ) 1,00,000 ; 7% Ya@if&®R 3 YSi (7% Preference Share Capital) 80,000 ; %= (Reserves)
10,000 ; 9211 8% =Kv19= (8% Debentures) 60,000.

TR (i) 2.27:1(ii) 1.67:1(ii) 8.13 times (iv) 0.47:1(v) 0.32:1 (vi) 39% (vii) 62% (viii) 38%(ix) 35.6%

8. ¥ fo1. @1 F=ferRad el & =id SIY —

From the following informations of Rishabh Ltd. Find out :

(i) el oY 3rgura (Gross Profit Ratio) , (if)uR@mer srgurd (Operating Ratio), (iii)ufR=me o srurd
(Operating Profit Ratio), (iv) g€ < 3gurd  (Net Profit Ratio), (v) fafa T R g (Return on
Investment), (vi)&msl &1ed 3gurd  (Interest Coverage Ratio)

a=m¢ (Informations) : SaTa il ¥ A (Revenue from operations) 4,00,000, warer fohamit |
I &1 oTd (Cost of Revenue from operations) 2,25,000, 3fcqehTeils k01 91X &5l (Interest on Short
Term Loan) 5,000, &rafer @d  (Office Expenses) 25,000, fd&a =03 (Selling Expenses) 50,000, vTe
faxmar  (Rent Received) 4000, 31 & g9 (Loss by Fire) 10,000, Sr€iaTei= oli W 7o (Interest on
Long Term Loan) 10,000, &< oi<¥  (Commission Received) 5,000, faffaifsra doit (Capital
Employed)6,00,000, 3R @1 &% 30 % (Income Tax rate may assume 30%)

S (1) 43.75% (ii) 75% (iii) 25% (iv) 14.7% (v) 15.67% (vi) 9.4 times

o.ffF=ifeRaa amell | (DUfT afer oo, (i) afer arierdem(iii) STIRT I STUTd @1 oM HIFTY:
From the following informations, calculate (i) Earning Per Share EPS, (ii) Dividend Per Share — DPS,
&(iii) Dividend Payout Ratio,

PR g Fo 9 gd o (Profit Before Interest & Tax)-5,00,000, ET€drei #0l @R &1 (Interest on  Long
Term Loans)-2,00,000, &R & ferd 3mae (Provision for Tax) - 30%, @l 78 M4 (Retained Earnings)-
60,000, FHaT e YSi—10 g afer # fawrfsra (Equity Share Capital-Divided into shares of %10 each)
SR ()7 ()5 (1ii)71.43%

10.39eT 7= AN &1 SR ©: Following informations are given to you :

Revenue from operations 6,00,000

Less : Purchases 3,00,000

Changes in Inventories (Opening Inventory —Closing Inventory) (60,000 — 40,000) 20,000

Direct Expenses 80,000 4,00,000

Gross Profit 2,00,000
Balance Sheet as at 31 March, 2017

Particulars Note. No. Amount

IEquity and Liabilities:
(1)Shareholder’s Funds:

(a) Share Capital 4,00,000
(b) Reserves and Surplus 1 2,00,000
(2) Non Current Liabilities (10% Debentures) 1,00,000

(3) Current Liabilities
(a)Trade Payables 2,00,000
(b)Other Current Liabilities 1,00,000
Total 10,00,000

IT Assets :
(1) Non Current Assets 5,00,000
(2)Current Assets

(a) Inventory 40,000
(b) Trade Receivables 2,60,000
(c¢) Cash and Cash Equivalents 2,00,000
Total 10,00,000
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Reserves and Surplus: N

Note : 1  General Reserve : 50,000
Profit & Loss: 1,50,000
2,00,000

FHWR AV g FARN B SR R TN BT : (i) =Tef, Igurd (i) I i ura (iii) Wi orura (iv) o1
AT AU (V) Ih ATad IUTd (vi) RTUTRe Uy 3frad Agura (vii) iR <gar 3fad rgurd (viii)
NETCECICICE RIS

On the basis of the informations given above, calculate:

(i) Current Ratio (ii) Liquid Ratio (iii) Proprietory Ratio (iv) Debt-Equity Ratio (v) Inventory Turnover
Ratio (vi) Trade Receivables Turnover Ratio (vii) Trade Payables Turnover Ratio (viii) Gross Profit
Ratio.

SR () 1.67: 1 (i) 1.53: 1 (i) 0.60: 1 (iv) 0.67: 1 (v) 8 times (vi) 2.3 times (vii) 2 times
(viii) 33§%
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